FIT Outline

I) FIT first principles

A) Authority Governing Tax Law

1) Constitution

2) The Code

3) Treasury Regs

(a) Have the force of law, but where they conflict with the code, court’s may strike reg.’s down as invalid

4) Revenue Rulings and Revenue Procedures

(a) Represent the IRS’s opinion as to the law

(b) Frequently struck down by court’s for contravention of the reg.’s or code

(c) One can ethically and legally ignore rev. rulings in certain situations

5) Private Letter Rulings

B) Legal and Ethical Considerations

1) Criminal Provisions of the Code

(a) §7206(1) (p.832):  perjury on return, 3 year felony.  A criminal fraud statute.

(i) Requires a knowing violation of the laws, subject to BRD proof

(b) §7206(2):  to aid or assist s/o in committing fraud on a return (an atty offense), 3yr penalty

2) Civil Liability Provisions

(a) §6662 (p.822):  punishes plausible, but overly aggressive tax positions.  Penalty is 20% of the tax.  Not subject to a mistake of law defense.

(b) §6663:  civil fraud, punishment =’s 75% of tax liability, POE required.

3) The Fraud sections (crim and civil) raise possible mistake of law defenses b/c both require the m/r of ‘willful’.

4) You would not be punished under the perjury provisions if you ignored a rev. ruling, but you may be liable for 20% sub §6662

5) For significant items, its best to pursue a safe course

(a) Reg. 6662-(d)(2)(B)(i):  special form can be filled out to declare non-compliance w/a rev. ruling which is thought invalid.  If a position has a  reasonable basis and you disclose on this form, then even if you lose litigating it the gov’t can’t assess a penalty

(i) A reasonable basis = a 10%-20% chance of winning if the position is litigated on the merits

(b) Reg. 6662-(d)(2)(b)(ii):  Alternatively, if the position being taken has substantial authority, the payer doesn’t have to disclose to prevent penalty.

(i) position has to have a 40% chance of winning on the merits to qualify for (ii)

(c) Both of these devices protect against penalties, but not from interest accruing.

6) Court’s may award attorney’s fees to people litigating against the IRS

7) As a tax advisor, a lawyer’s advice as to aggressive tax positions is governed by the ABA MRPC

(a) ABA op. 850352: A lawyer can recommend that a client take a tax position so long as, “there is a realistic possibility of success.”

(i) This equates to roughly a 1/3 chance of prevailing on the merits if litigated

(ii) This allows for lawyers to be very aggressive and remain consistent with this op.

(b) It is never ethical for a lawyer to advise a client to try their chances at the audit lottery

(c) It is OK for a lawyer to advise a client to take a position that the client has less than even odds at succeeding with, but if they don’t meet the substantial authority threshold (i.e. 40%) the client will be liable for penalties

C) Calculating tax liability

1) Gross income – deductions = taxable income

2) Taxable income x Tax rates = tax payable before credits

3) Tax payable – credits = final tax due

D) Gross Income (as defined by § 61): Realized accretion to wealth

1) Not confined to caish; payment in kind (aka income in kind) is evaluated by its FMV

2) Gains from the sale of property

(a) Stock sale (capital gains §61(a)(3))

(b) Gain is reduced by the basis, i.e. the initial cost of the capital interest

(c) The sale of the property is a ‘realization event’, at which point tax becomes payable

3) Includes all gross income for a taxable year

E) Deductions:  A decrease in the economic wealth of the taxpayer for the purpose of calculating tax owed

1) E.g., Business expenses:

(a) Net amount remaining is what’s taxable to a business as receipts

(b) Or, the business is being taxed in proportion to its ability to pay taxes, b/c its taxed on its net

(i) Tax on net increases on wealth (§161-162)

(ii) Expenses (§162(a))

2) Corporate v. Individual Deductions

(a) For the individual:  Gross income – deductions above the line = AGI, AGI – deductions below the line (e.g. exemptions and standard deductions or itemized deductions) = taxable income

3) Deductions above the line:  usually of a business nature (e.g. business expenses and overhead).  They are more desirable b/c they are less subject to restrictions and phaseouts than are below the line

4) Standard Deduction

(a) In alternative to itemized

(i) 1998:  married couple filing jointly = $7100, single $4250

(ii) subject to a marriage penalty obviously

5) Deductions below the line:  §62(a) lists all deductions a/t/l, all others are b/t/l

(a) Exemptions (§151(a)-(d)): for every person in the family some expenses are incurred and these are offset a certain amount to allow for living expenses by the exemptions

(i) 1998 = 2700$/person

(ii) covers both personal and dependent exemptions

(iii) reflects a social policy decision

(b) itemized deductions (used where the cumulative exceed the value of the standard deduction

(i) e.g. mortgage interest, state or local income taxes, property taxes, certain medical expenses, charitable contributions, casualty losses

6) The Mechanism of the 2% Floor

(a) Miscellaneous itemized deductions are added together and are deductible only to the extent aggregated they exceed 2% of AGI

(i) §67, p.56:  everything not in §62 is itemized, and everything ~ in 67(b) or 62 are miscellaneous itemized

(ii) of course, deductions a/t/l are ~ subject to this rule

(b) Includes:  non-reimbursed employee business expenses, e.g. where an employee has to pay for CLE.  Reimbursed employee business expenses are deductible a/t/l

(i) non-reimbursed are subject to the rule b/c of the policy concern that they have not been scrutinized by the employer, ( more subject to abuse

(c) Also includes hobby expenses and investment expenses

(i) includes financial advisor expenses, custodial fees, and subscriptions to investment periodicals

· Investment expenses are ~ §162 business expenses, b/c for the purpose of the code investment is ~ business, but they are deductible, with the 2% floor, under §212 (Expenses fir the production of income)

· Why are investment expenses subject to the 2% floor?

A. reduces cheating

B. record keeping concerns

C. The ‘Wall St. Journal’ deduction arg:  such prescriptions are personal and w/o the floor people would abuse and deduct periodical expenses which are personal

7) TP’s want to accelerate deductions and defer income, the IRS wants to delay deductions and accelerate the realization of income.

F) Taxable income: tax system uses net accretion to wealth as a basis for calculating tax liability (§63(a)).

1) Tax rates for the individual §1, for corp.’s §11

2) Rates are progressive

3) Inflation is offset in the table by the yearly promulgation of new tax tables per code §1(f)

(a) This counters ‘bracket creep’, being pushed into higher brackets w/o actually being any better off b/c of inflation

4) The average tax rate calculation: tax paid/taxable income = average tax rate (as opposed to highest marginal rate)

5) What matters is the marginal tax rate when considering a course of action (i.e. to do work or not work, etc.)

G) Deductions v. Credits

1) Credits:  a 1 to 1 reduction/offset to tax itself

(a) A credit is always preferable, since the value of a deduction is never 1 to 1 unless the marginal rate = 100%

(b) Some credits are refundable, e.g. the EIC, which is an integral part of the modern bleeding heart liberal welfare state

(c) Credits may be subject to phaseout, where the purpose of the credit is to help the poor and unfortunate, I’m getting misty.

2) Deduction:  the value of a deduction is dependent on the marginal tax bracket or rate
(a) E.g.  A $100 deduction is worth a $15 saving to a person in a 15% bracket, worth 40$ to someone in a 40%, etc.

(b) Where the reduction in tax liability in virtue of a deduction straddles a bracket break we are in a world of shit, per T. Evans)

(c) Obviously deductions are more valuable to people with greater income, they get more bang for the deduction buck

II) Tax Policy

A) Competing theories of tax base

1) Income Tax (e.g. The federal System)

2) Consumption Taxes

(a) E.g. sales tax

(b) Or, a VAT

(i) multi-tiered sales tax, at every step where value is added, the add-or pays a % of the increased value.   Found in Europe and Canada, and is basically a multitiered sales tax

(ii) The price charged for the good is increased to reflect the VAT, (the consumer bears the ultimate burden

3) Head or Poll Taxes

4) Political considerations:

(a) The right favors a consumption tax (which encourages savings), while the left argues that they are regressive and unfair, arguing that an income tax is more equitable

(b) There are arguments that a VAT is a hidden tax (US Treas. Report ’84):  The consumer doesn’t know how much they’ve paid or will pay in any given year, so the government will be less accountable and there will be less political resistance to the tax

(c) State government would likely see a VAT as the federal government encroaching on the states traditional tax base, or a usurpation of the traditional way of financing local government.

B) How do we evaluate a tax system?

1) Fairness (KB p.19)

2) Administrative Feasibility or Simplicity (KB p.22)

3) Economic rationality or Neutrality or Economic Efficiency (KB p.22)

4) VIEW CHART 1 HERE:  The above systems compared by 1-3 supra.
C) Incidence:  Who bears the economic burden of a tax

1) What is the incidence of a corporate sales tax?

(a) Weak consensus says its on the shareholders, but K+B say the incidence in indeterminable.  Could it be on employees who get paid < wages?  Vendor get charged > prices?

(b) If its on the shareholders, then it is argued that this adds to the progressivity of the system b/c the investors have disposable income

(c) Labor thinks the incidence falls on capital

D) Progressive tax policy

1) Higher layers of income are taxed at higher rates

2) This is as opposed to a proportional tax system, where people who make more pay more tax, but tax is proportional. i.e. 25% across the board

3) As opposed to regressive: e.g. state sales tax on which the poor pay a higher %’age of their income in the tax

4) See Table 2

E) The Tax Expenditure Budget

1) Tax Expenditure:  Lost revenues in virtue of tax incentives, credits and deductions.  These tax benefits are designed to encourage certain activities

2) TEB Theory

(a) Tax expenditure represent departures from a normal tax system

(i) TEB p.16 details where there are differences of opinion on what constitutes this hypothetical normal tax structure

(ii) The joint committee has a narrower definition of what’s normal, (they have a broader defn’ of what are tax expenditures

(b) Many tax expenditures are referred to popularly as ‘loopholes’ and ‘corporate welfare’

3) Broken down into categories: energy, natural resources, etc

4) Tax expenditures are effectuated through:

(a) Deductions

(i) E.g. home mortgage interest deductible from taxable income, similar with property taxes.  

(ii) The above deductions are under commerce and housing in the TEB, p.19

(b) Accelerated Depreciation

(i) An accelerated deduction.  Plays on the time value of $, reducing taxes now through faster deduction schedule is more favorable than over the future years.

(ii) if we want to encourage investment in equipment, we accelerate the deduction for depreciation

(iii) For oil and gas, you can deduct the cost of development entirely in year 1, which is a method of encouraging the drilling of new wells.  (The intangible drilling cost (IDC) deduction)

(c) Credit

(i) Allowance of a tax credit to encourage certain activities, E.g. tax credit for low income housing, education credits for tuition, p.20

(d) Permanent exclusion from gross income: e.g. interest on state and municipal bonds, p.18

(i) But note here that the rate on state and municipal bonds is below market yield, so that the value of this particular expenditure accrues mostly to the issuing authority, b/c they can charge lower interest in virtue of the tax free treatment of the interest payments

(e) Delayed recognition of income

(i) For example, the tax deferral of pension plans, where there is no tax to the employee until they begin withdrawals.

(f) Lower tax rates

(i) The preferential rate for capital gains, §163, where the rate is almost half the highest marginal rate for regular income.

F) Haig-simons income

1) Based on the consumption and change in the value of assets, basically economic income

2) Income can be considered as changes in a person’s wealth, ignoring the consumption amount as well.

(a) When we do this, a deduction becomes a decline in wealth, and the purchase of assets isn’t a decline in wealth, and ( isn’t deductible

3) The FIT structure doesn’t mirror H-S income theory b/c the latter considers unrealized gains, whereas FIT doesn’t

(a) For purposes of FIT, this forgone income to the govt. is part of the ‘normal’ tax system, i.e. the realization doctrine is itself normal and never considered a tax expenditure

4) H-S would not tax the proceeds of borrowing against appreciated assets, neither does FIT.  ( you can borrow non-recourse on appreciated property and not have reported income reflecting that cash-in, in virtue of the coordinate liability that is assumed.

III) Fringe Benefits (FB’s)

A) The same as income in kind or non-caish income (e.g. meals on the job, stock options, pension contributions, health insurance provision, co. picnics, parking)

B) Default rule is that FB’s are taxed: §61(a)(1)

1) Taxable and non-taxable varieties

(a) Nontaxable are excluded from gross income, taxable included

(b) Represent some of the largest tax expenditures in the code

(c) Taxable FB’s are paid for with after tax $’s, but note if you are allowed to deduct something it is like paying for it in pre-tax $’s.  Non-taxable FB’s allow you to exclude something from gross income which would otherwise not be deductible, e.g. health ins. Premiums

(d) There is a non-discrimination requirement applied to FB exceptions to taxability

(i) The tax free basis of a tax free FB is conditioned on its being offered to both low and high paid employees

(ii) Only concerned with discrimination against low paid employees, such that its OK if only offered to them

2) Arguments in favor of taxing FB’s

(a) Tax free treatment wastes resources, b/c it creates a non-neutral tax system which distorts behavior

(b) Tax free treatment discourages savings and encourages consumption

(c) Unfair b/c of voluntary self assessment, i.e. it jeopardizes the voluntary self-assessment model which underlies our tax system

(d) The ’86 tax reform act was geared to broadening the base and lowering the rates by including fringe benefits in taxable income, bringing about a more neutral tax system (and also hitting fat cat’s who get more FB’s)

3) The worth or proper valuation for tax purposes is the FMV, which is then included in income

4) See e.g. p.21 TEB, Health insurance employer contributions are not included in income, an example of an FB that is ~ taxed

5) Flex account hypo and ‘cafeteria plans’

(a) Setting aside of a certain amount of dollars of gross wage receipts tax free for medical/dental/childcare.  Pay is non-taxable, ( the services are paid for in pre-tax $

(b) This is an example of a §25 ‘cafeteria plan’, but note that the benefit is offset by the fact that the $’s left over at the end of the year unspent are forfeited outright

(c) This raises the issue of a non-neutral tax system:  encourages a decision which brings about a deadweight social loss b/c there is a tax bias in favor of the favored svc’s.  , i.e. you get more consumption of the favored services beyond what’s desirable.

(i) Non-neutral tax system which favors health insurance inflates the cost of medical svc’s b/c people overuse the svc’s w/o any concern for cost

6) The creation of categories of taxed v. non-taxed income biases market activity, i.e. it distorts market decisions

7) All tax free FB’s are free from FICA taxes as well, ( the benefit is even greater, i.e. FB’s are ~ includable in taxable wages for FICA purposes.

C) Benaglia: KB p.89

1) Receives meals and lodging, and the IRS says this should’ve been reported as income at its FMV

2) But the ct says that these were provided for ‘the convenience of the employer’, and ( are ~ taxable income

3) Since the FB’s are given for the convenience of the employer they are excluded from gross income

4) §119 codifies Benaglia:

(a) excludes meals and/or lodging provided for the benefit of the employer, i.e. making them tax free FB’s, including provision to family members

(i) meals have to be on the business premises of the employer

(ii) lodging must be required to be accepted as part of the employment

· e.g. firefighters, hotel managers, physician on call at a  hospital, the white house and governors mansions

(iii) the main issue is the involuntariness of the FB’s, ( the employee isn’t going to value it as highly

(b) Note exceptions sub 1.119-1(a)

(i) §1.119-1(a)(2)(iii)

· meals are included if they’re furnished to attract perspective employees

· But note §119 requires that the meals be furnished on the business premises.

(c) Gotcher:  VW invites ( to Germany on an all expense paid trip to look at the plant to try to encourage him to become a VW dealer.  The wife’s expenses are determined to be taxable b/c they’re personal, but the husbands are treated as legitimate business expenses

(i) post-Gotcher:  The SC has held that there is no more common law outside of §119, ( everything not explicitly therein is taxable (Kowolski)

D) Non-taxation of health insurance benefits, §106, Why?  Policy arg’s that apply to why FB’s are tax free:

1) If we don’t encourage people to buy health insurance, they won’t do so.  A paternalistic policy argument, a ‘friendly push’ in the right direction

2) Negative externalities:  if we don’t encourage employers to buy insurance then the taxpayers will have to pick up the cost of increased use of public facilities, etc.

3) Tax relief argument: taxes are high enough as it is.  The federal tax burden is already at the highest % of GDP ever in peace time

E) Other Tax Free FB’s

1) Misc. §132, 50k group term life insurance §79, medical insurance (no $ limit) §106, meals and lodging §119, Up to $5250 towards tuition (undergrad only) §127, Dependant care (Employer can pay $5000 towards child care tax free) §129, No additional cost svc’s + qualified employee discounts + Working condition fringe + de minimis §132.

2) §132(1):  No additional Cost Svc’s

(a) if its really something that doesn’t cost the employer, it would be wasteful not to allow the employee to take it tax free

(b) e.g. free passes for transportation when seats are available (excess inventory or capacity)

(i) if it would otherwise have been paid for, then it is not covered, b/c of the forgone opportunity cost

(c) reg 1.132-2(a)(5): no substantial additional cost, e.g. in-flight svc’s, meals and drinks are an acceptable cost sub §132(1)

(d) limited by the ‘line of business’ requirement:  an employee can receive these no additional cost svc’s only in the same line of business as which they’re employed, e.g. stewardess can’t accept free rooms at affiliated hotel.  This limitation reflects populist thinking which prevents conglomerates from having a competitive advantage over smaller corporations.

3) §132(b):  means employees and family §132(h)(2)????

4) S132(c):  Qualified employee discount plan

(a) Sale at cost is appropriate

(b) If sale to employee is below cost, the margin of price below cost is treated as gross income

(c) Calculated in terms of:  gross profit/total sales=Acceptable maximum discount

(d) Also limited by the line of business requirement

(e) The gross profit percentage = the maximum allowable QED

(f) The problem of applying this method to services is solved by just applying a flat max of 20% discount.

5) §132(D):  Working condition fringe

(a) Employer can provide a benefit for an employee if the employee could deduct the expense if paid for themselves

(i) E.g. if the employee could deduct as a business expense sub §167, then the same expense paid for by the employer can be treated as a working condition fringe

· Airline tickets, hotels, and meals which otherwise would’ve been deductible as business expenses

· Provision of ‘means to make a living’, or ‘;means to do your job’, e.g. bar dues and occupational taxes

(b) Since these bene’s are noncompensatory, it is OK for the employer to limit provision to only high paid employees

(c) Independent contractors can also make use of this provision.

6) §132(a)(4) + §132(e):  DeMinimis Fringe Exception

(a) parties, picnics, booze, broads, and beefsteak

(b) §1.132(e)(2):  occasional supper money

IV) Imputed Income

A) A symptom of the inherent problems in our tax system

B) Imputed Income from Property

1) Derived benefit in terms of economic income

2) A market decision, or you wouldn’t live in the house unless the benefit you derive from living there was greater than the amount you would receive from renting the house out

3) Administratively, it would be possible to assess the value of the imputed income based in the state property tax base of the property

4) The deduction of mortgage int. and property taxes are additional benefits that owners have vis-à-vis renters

(a) Since the imputed income here is ~ taxed, we classify mortgage int. and prop. tax deductions as tax expenditures

5) Note also that imputed income from car ownership is ~ taxed either, and ( you can’t deduct the depreciation on it either

(a) The imputed income from car ownership can be understood as the forgone opportunity cost of investment of the same $’s

6) There is a larger %’age of wealth and savings in home ownership b/c of the tax bias in favor of it, otherwise there would be greater savings investment in productive assets

(a) As a policy matter though, home ownership has positive externalities, the benefit bestowed on neighbors

7) Arguments that tax advantages here are unfair are tempered by the fact that the advantages raise the prices of houses and in turn eliminate the tax windfalls.  I.e. that there is a putative or implicit tax on home ownership in the inflation of prices (i.e. the tax advantages are capitalized in the price of the house)

C) Imputed Income from svc’s

1) When a person does svc’s for themselves, rather than paying s/o to do it for you, they have imputed income

(a) E.g. sweat equity type activities, policy issue here focuses on the issue of homemakers who perform very valuable svc’s for themselves

2) The imputed income from svc’s is less of a policy issue than home ownership imputed income

3) Arguably, the lower the tax rates, the less the level of distortion caused by the non-taxation of imputed income from svc’s

D) Rev. Rule 79-24 (KB, p.124)

1) Service swap organizations or barter clubs, here an atty-painter svc. swap 

2) IRS says that both parties are recognizing income in the value of what’s received (~ what’s given).  There was no caish transfer on the facts.

3) Further says that this is not imputed income, but is a marketplace transaction, even though non-caish

(a) But note here that if the atty. had had her office painted, the payment for the painters svc’s would be a deductible business expense.  Also, if the painter were getting legal advice on business, his expenditure might be deductible as well.

V) What is income?

A) Glenshaw Glass, KB p.126, (1955)

(a) Addresses Goldman Theatres v. Loews on anti-trust, Goldman wins treble damages, ( the total award less the actual damages =’s the punitive damages, which are treated as taxable income in the case.  Goldman conceded the taxable nature of the lost profits portion of the judgment.

(b) §61:  Gross Income Defined:

(i) §61 is construed to the maximum breadth constitutionally allowable in this case:  ct says that §61 is coterminous with the constitutional authority granted by the 16th amend.

(c) Goldman argues Eisner v. Macomber

(i) Eisner:  income has to be earned to be subject to the authority of the 16th amend, or, unearned income can’t be taxed within the bounds of constitutional authority

(ii) Goldman says the income in question wasn’t earned.  Ct rejects this argument and says that Eisner is limited to its facts, ignoring Eisner w/out overruling it

(iii) Douglas dissent:  argues habitual???

B) Found Money and Valuables

1) Such finds are Hague-Simons income, i.e. increases in wealth, ( included in gross income.

2) 1.61-14 (p.865): amount of gross income is the actual value of what’s found, e.g. an old 100$ bill worth 1000$ is treated as $1000 found

3) Cesarini:  Used piano bought for $15 and (’s find $4467 in it.  They include the amount in income in the year discovered and then file an amended return and say that the $4467 shouldn’t have been included in income and they should receive a refund.

(a) b/c the case is as to tax paid (’s go to district ct.  The ct says that its income (realized accretion to wealth and cite the treasure trove reg.)

4) Windfalls are gross income, even though they are unearned

(a) But bargain purchases are not income (e.g. the first edition Michner book hypo), and non-bargain purchases are ~ deductible losses, mostly for administrative reasons. The taxable income in this case accrues as regular income when the purchase is sold, and if a profit is then realized.

(b) ( whether a purchase is income depends on the buyers knowledge, bargain purchase v. treasure trove.  The caish in the piano is treasure trove, ( taxable income.  Steinway piano is bargain purchase, ( not taxable income until the gain is realized on sale

5) Note discussion of income from illegal activities as taxable income

(a) The Capone case:  busted on tax violations on the theory that he couldn’t have lived his lifestyle on his reported gross income

C) Gifts:

1) gifts are not included in gross income, but it is H-S income, so there is a deviation b/c of this exclusion, b/c the gift amount is ~ gross income or taxable income per §102

2) §102 addresses gifts and inheritances, but note that earnings on the gift (e.g. interest) is taxable, gifts in kind included and ( are not taxable either

(a) e.g. 20K check from estate in inheritance is also ~ income per §102, b/c gross income doesn’t include income from bequest, devise or inheritance.

3) Note the basis is transferred from the giver of the gift (‘carry-over basis’), except in inheritance situations, where basis doesn’t transfer

(a) Watch sale hypo and carry-over basis

(i) Gift of watch with basis for buyer of 1K, Watch sold by gift recipient for 20K, 19K taxable gain

(ii) Basis for the gift is transferred, §1015 (p.570)

(iii) By requiring the inheritance of the basis we insure that the gain is taxed later

(b) What if the watch were inherited?

(i) Inherited property or cash is not included in gross income

(ii) Basis = FMV on the day of death, ( if the watch is sold for 20K shortly after the death of the testator, no gain is realized.  §1014

(iii) Sub §1014 the gain here ‘evaporates’, i.e. no one is taxed on the gain, death is the ultimate tax shelter

(iv) §1014 stepped-up basis is a major anomaly in the tax structure, and is a major tax expenditure.

(c) §1014(c) (The §1014 stepped up basis rule does not apply to income described in §691, i.e. IRD. 

(i) IRD:  income earned by the decedent, but not yet recognized for tax purposes, e.g. lawyer’s A/R account which is inherited

(ii) §1(e): rates for estates and trusts

(iii) IRD is the big exception to the §104 step up rule

· Since the step up basis rule doesn’t apply to the IRD, tax is paid when the proceeds are collected

(iv) The inherited corpus of a pension plan is IRD, b/c the income has been earned by the decedent but not taxed b/c of the deferral.  Same applies to IRA’s and Keogh’s

(v) IRD Policy:

· Since the income is so close to fruition in the hands of the decedent, it would be wrong to allow the income to totally escape the tax system

· IRD is caused solely by the method of accounting, i.e. the caish method, b/c under accrual it would’ve been recognized in the hands of the decedent

4) Duberstein:  How do we determine whether something is a gift? (p.130)

(a) Berman gives Duberstein car in return for referrals which Duberstein sent his way

(b) Duberstein hesitatingly accepts, and he doesn’t report the FMV of the car as income, but Berman deducts the value as a business expense

(c) Is this a gift?

(i) Yes, under state law b/c it’s a unilateral transfer, but the ct says that lack of lgl obligation to make the transfer is not dispositive of the gift v. non-gift status. Duberstein id the fed law on gift status determination.

(ii) Fed tax laws don’t base tax judgments on state law characterizations

(iii) Ct says if transfer is made to receive benefit or out of a moral duty, then it’s not a gift.

(iv) Test is: Based on the intent of the transferor exclusively.  ‘A gift proceeds from a detached and disinterested generosity’ of the transferor, out of ‘affection, respect, or generosity.’
(d) Ct says Berman’s intent was to elicit more referrals, i.e. a quid pro quo, ( Berman didn’t have the requisite intent for a gift.

(e) An example of how we infer the intent of the transferor from the facts; a test of subjective intent inferred from facts and testimony

(f) The dissent argues that the test is too subjective.

5) Harris:  Was this a gift or a payment for sex (when isn’t the latter the case?)

(a) Harris takes payments from Kritzik, > 500K, on which Kritzik didn’t pay gift tax, which he justifies by saying they were in fact payments and the government agrees, which means they were wrongly excluded from earned income

(b) ( is up on §7203 ( Willful failure to file, and §7201 ( Willful evasion or defeat of taxes

(c) 7th Cir. Reverses all of the criminal convictions on the ground that the two statutes require ‘willfulness’, which is only met where there is deliberate cheating

(d) Kritzik’s intent is central here in determining the status of the payment, ( willful evasion must be predicated on a knowledge by the sisters that Kritzik lacked Duberstein intent.  This case illustrates that payments to a mistress will not likely implicate criminal provisions of the code where they are not reported

6) Rules for gifts and basis allow for shifting of gains/appreciation to low bracket tax payers (the stock transfer to the kid hypo)

(a) Gift stock hypo:

(i) FMV at time of gift 10K, basis = 19K

(ii) If sold at FMV, implicates the ‘goalpost rule’

(iii) Rule is designed to prevent people from shifting losses; only applies if at the time of gift the property has depreciated below its original basis of the grantor.

· If sold at < 10K ( loss recognized

· If sold at > 19K ( gain recognized

· If sold at > 10K, but <19K ( No gain or loss.

A. Sold for 21K ( 2K gain recognized

B. Sold for 9K ( 1K loss recognized

(iv) Rule won’t allow for losses to be transferred and prevents taxation on something that would not be a net gain for ‘the family’ (assuming transfer to a child)

(v) But you’d never shift losses to a lower bracket taxpayer anyway, b/c they’d be more valuable for the high bracket transferor, ( the goal post rule is pointless

(vi) But people will shift gains to low bracket children, OK sub §1015 and goalpost rule.  One exception is the kiddie tax (where transfers to children are taxed at the parents rate)

(vii) Best tax advice for geezers: Hold on to appreciated property and sell depreciated property while alive, b/c §1014 shifts the basis down to FMV on the day of death

7) Bequests in the vein of salary

(a) e.g. s/o leaves lawyer 10K for years of dedicated svc, this get treated as income, ~ gift

(i) similar to the tax treatment of tips, i.e. donor lacks requisite intent, quid pro quo

8) Federal Estate and Gift Tax

(a) A totally separate system which is not an income tax, imposed on the donor.

(b) Based on populist policy concerns regarding concentrations of wealth and power in relatively small units, i.e. families.  Estate tax, on this rationale, is steeply progressive.  

(c) §2001 (p.686): Estate tax rates, max out at 55%

(i) complex and costly to administer, and raises certain concerns of double taxation, which are argued by parties for abandonment of this tax.  This tax is a source of great political controversy

(ii) gift and estate receive essentially the same tax treatment sub §2502 and §2001 respectively

(d) Note unlimited marital exemption for estate and gift transferred to spouse sub §2056

(e) §2503(b):  gifts of 10K /year/person are exempt from tax, and are not taxable to the recipient either.  Only when living

(f) §2010:  Lifetime exception for 650K, in addition to 10K/year/person, with no estate or gift tax liability

(g) §2503(e)(2)(A): unlimited free gifts for tuition not counting against the 10K or 650K exceptions (is a relation to the donee req’d?)

(h) §2503(e)(2)(B):  unlimited free gifts to cover medical costs, no relation to the donee req’d

(i) Money given to support a child is exempt from gift tax under CL doctrine (i.e. where there is a legal requirement of support)

(j) §2522: Transfers to charities or gov’t units not taxable sub estate and gift

D) Tax Treatment of Tips (Restaurant or Vegas Dealers) and Awards

1) Tips

(a) Some people argue gift and ( non-taxable, but this argument is a non-starter because while tips may be a state law gift, for FIT purposes we look to the donor’s intent (Duberstein) which is here a quid pro quo ( taxable

(b) Toke to dealer for a good hand (e.g., the asshole in Vegas who tells you “Son, you gotta kick down Bobby, ‘cause he’s dealin’ ya right.”)

2) Prizes and Awards

(a) Prizes and Awards are Taxed, including Nobel Prize, such that rewards for doing something admirable are taxed

(b) §74(b)(1): exception to the rule for prizes received where no action to enter was taken and there is no obligation to render future svc’s on account of the prize, such prize is not taxable when given away to charity.  This rule allows for an exception to the 50% AGI ceiling on charitable donation deductibility. 

3) Unemployment compensation is taxed b/c it is seen as received in lieu of salary, as is Soc. Sec. subject to some limitations (~ taxed up to a certain amount), but food stamps and welfare are not taxed, because you cant squeeze blood out of a turnip

E) Recovery of Capital, Life Insurance and Annuities

1) Recovery of Capital (Basis)

(a) Not taxed on recapture of basis

(b) The same as the theory of ‘capitalization’: i.e. you can’t deduct the cost of an asset until it’s sold

(c) Gross Income = The net amount received after basis recovery

(i) Gross Receipt (20K) – Cost of Good (2K) = Gross Income (18K)

(ii) Gross receipts are not taxable constitutionally (They’re no income), they must be reduced by cost recovery to be taxable.

(d) Land Partition Sale Hypo:  Assign a proportion of the basis to the portion being sold by reference to that portion of the purchase price associated with that portion of the property (1.61-6, p.862)

(e) Sale of Stock and recovery of basis: ‘specific identification’ of batch which is being sold against

(i) For stock bought in batches, the seller can specifically identify which batch, and ( basis, which is being sold against.  This allows for a reduction in gains realized.  If the seller cannot identify batches, then they use the FIFO rule.  Implicates LTCG for property held > 1yr

2) Shouldn’t we adjust basis for inflation?

(a) This would be the equitable position, and its absence from the code is a well recognized flaw in the tax system

(b) Court holdings say that it’s not a fatal flaw constitutionally b/c you can tax nominal gains, i.e. not adjust for inflation

(c) This problem raises a corollary consideration: you can’t index earnings unless you index debt also, to avoid creating a tax shelter problem (Taix arbitrage)

3) Annuities

(a) The upper limit of the reasonable price for an annuity is the reduction to present caish value of the payments, but naturally the price will be less than this.

(b) There is the possibility to ‘win the bet’ or ‘lose the bet’ in the context of the classical, such that life insurance is a better buy for s/o with a short life expectancy, and an annuity is better for s/o with a long one (a life expectancy that is).

(c) The Deferred Annuity:  Initial pay-in is made at some remoteness from the beginning of the stream of payments

(i) There is no taxation on the buildup of the annuity value until you start receiving the payments, a big tax expenditure (p.19, top half)

(d) Basis for the annuity = the initial pay in

(i) Ideally the taxpayer would like to recover the basis first, such that no taxable income would inure to the beneficiary until the basis is completely recaptured.  The IRS would like to recover the income faster to protect the fisc from the early death of the beneficiary

(ii) But the law provides for an ‘exclusion ratio’ sub §72(b), which determines how much of each annuity payment is basis recovery and how much is income

· The exclusion ratio is: The basis/expected value of the stream of payments

· Value of the stream of payments based on the life expectancy tables, table V, p.878 (EXAM)

A. Applicable table V number is the life expectancy remaining, this number is multiplied by the yearly payments of the annuity (don’t forget this) = expected value of stream of payments.  Basis/expected value of the stream of payments = exclusion ratio.  The exclusion ratio is that percentage of the periodic payments which is treated as basis recovery.

B. Unisex table V helps women and hurts men, b/c men’s life expectancy is shorter and the table projects for a cost recovery period longer than the man’s actual life expectancy (average of men and women)  Women get a higher exclusion ratio than what would be based on their actual life expectancy

C. African Americans have shorter life expectancies so they get hurt by having to use the caucasian-majority tables

D. Table I is no longer in effect

· Employer annuity plans are sub §72(d), p.62

A. Employer annuity plans have to be sex neutral in their cost, so employers cannot charge female employees a higher price for participation b/c they have a longer life expectancy.  This is per the ’64 civil rights act.  A private annuity issuer can, however, make price adjustments based on age

(iii) Once the entire basis has been recovered according to the exclusion ratio, then each remaining payment is treated entirely as income

(iv) If the payee dies prematurely (before all of the basis is recovered), the unrecovered basis is deductible.

· A deductible loss sub §72(b)(3).  Creates the possibility of carrying the loss back and filing amended returns to reflect it, and receiving refunds

(e) The deferral of inside buildup in the case of deferred annuities represents a tax favored treatment.  Further, the exclusion ratio, which is a straight line system of cost recovery, represents a tax advantage in that it gives faster cost recovery than the corresponding decline in the economic value of the annuity.


(i) Arguably the basis recovery ought to be equal to the decline in the value of the annuity

(ii) The decline in the value of the annuity is smallest the 1st year, and then it increases as years go by (i.e. it is a back loaded cost recovery system), ( the exclusion ratio will be greater than the economic decline.  The beneficiary will be under-taxed in the early years and overtaxed in the later ones.

(iii) An annuity is not amortized as an annuity b/c of the statutory exclusion ratio, which favors the taxpayer’s basis recovery

(f) INSERT AMORTIZATION TABLE HERE

4) Insurance

(a) Term insurance =’s pure death insurance, payout not taxable (Mortality gains are not taxed sub §101)

(i) Not taxed on the policy that we don’t want to tax the bereaved

(ii) Correspondingly, mortality losses (i.e. where you pay for term insurance but don’t die) are not deductible

· Contrasted w/the rule for annuities where mortality gains are taxed as regular income and unrecovered basis mortality losses are deductible

(b) Whole Life Insurance (Endowment Policy)

(i) Carries a savings component

· Part of the premiums go to term insurance and part to the savings component which has tax deferred inside build-up

(ii) Premiums paid over the life of the policy are deductible against the gross receipts at the end of the policy, and ( be only taxed on the gain

· You can ( deduct that portion of the premium that was allocable to pure term insurance, a very good deal, because pure term payments are not otherwise deductible

(c) The standard advice is to buy term and invest the difference in price b/w the term and the whole.  This is b/c the ins. Co.’s pay only de minimis interest.  Furthermore the inside buildup tax advantage is offset by the higher price.  The only reason why whole might be advisable is as forced savings.

F) Recoveries for injuries

1) Tax Treatment of Damages received by (’s

(a) Corporate

(i) In Tort:  Compensatory Damages (i.e. lost profits) are taxable in the year received, and punitive damages are taxable in the year received (per Glenshaw Glass)

(ii) Corp’s taxed on receipt in excess of basis of insurance recoveries, i.e. taxed as an involuntary sale.  If a legal dispute is as to destruction of property, compensatory dam’s are taxable in excess of basis.

· If the compensation for involuntary conversion of property is reinvested w/in 2 years in property of comparable use after the compensation is received then the portion received in excess of basis is not taxable per §1033.  In this case basis carries over, to preserve the gain to be recognized later 

(b) Damages received by individuals

(i) §104(a)(2):  damage award or settlement proceeds in compensation for personal physical injuries or physical sickness (excl. punitives) are untaxed

· to tax these would seem inequitable, a sympathy policy, and also b/c it’s impossible to establish a basis.  The basic theory of reliance dam’s is to return a person to the status quo, ( ~ proper to tax

· Note how it seems inequitable that a business is taxed on lost profit awards, but an individual is not taxed on lost wages awards

· In federal cases jury instructions may include the fact that damage awards are not taxed, allowing the jury to base awards of after tax income amount, But contrariwise the ( benefits from the instruction b/c the eventual award will likely be reduced

A. UChi school argument is that there’s a lower incentive for (’s to take care b/c they don’t have to pay the actual cost of the injury they cause (The pre-tax cost)

· Emotional distress is not a physical injury sub §104(a)(2).  Where physical injuries are the byproduct of emotional injuries, dam’s are still taxable. (dams in virtue of physical manifestations associated with sexual harassment ( are still taxable)  Bystander recovery where the award is predicated on an underlying physical injury sustained by another in recoverees presence is tax free.

(ii) Libel suit dam’s are now taxable sub §104(a)(2).

(iii) Racial Discrimination Dam’s: Taxable sub 104(a)(2)

· Remedies for violations of constitutional rights used to be tax free, now taxable

(c) Punitive dam’s are always taxable, regardless of nature of the injury

(d) if the damages receive tax free treatment, then the expenses incurred in the recovery of the damages are not deductible, e.g. L fees, §265.  If the award is taxable, then L fees are deductible sub §212 (expenses incurred in the production of income)

(i) this can cause a problem where we have mixed damages recoveries, e.g. tax free related to compensation for physical injury, and some for punitives.  The IRS says here that the fees are associated purely with the recovery of the compensatory dams, maximizing tax by minimizing deductions for fees, and the TP’s are going to take the exact opposite position.  The best way around is to allocate pro-rata the L fees and treat some as deductible

G) COD income (Cancellation of indebtedness)

1) When $ is borrowed it is not income

2) Arises e.g. where debt is forgiven, this represents COD income to the debtor party, taxable §61(a)(12)

3) Kirby Lumber
(a) Co. sold a bunch of bonds to the public, and later repurchased many at a discount, COD = 137K, Holmes said that the Co had an accretion to wealth = 137K.  It ‘freed up the assets’ b/c before they were encumbered by debt, but now they were not.

(b) rail joint:  if you retire bonds for the issue price, no COD income

4) The price of a bond (or security) is equal to the present value of all of the future caish flows discounted at the current market rate

5) §108 on COD income

(a) §108(a)(1)(A):  discharges occurring sub titles 7, 11, 13 do not generate COD income, based on the policy that the bankruptcy code is to allow for a ‘fresh start’ through either discharge or reduction, and if COD income were held to inure to the debtor it would interfere with this goal

(i) Ch 7: Straight Bankruptcy/Liquidation of all non-exempt assets

(ii) Ch. 11:  Plan or ‘Work out’ for large corp’s to pay off debts over time, with some possible reduction of debts

(iii) Ch.13:  Same as above, but for individuals

(b) §108(a)(1)(B):  Where a person is insolvent, if their debts are reduced or cancelled, no COD income arises (Insolvent = where debts exceed the FMV of all assets)

(i) This section merely codifies the same prior CL position

(ii) Policy:  If you are insolvent and your debts are reduced, you’re really not in a much better position

(iii) Amount of debt cancellation which qualifies for tax free treatment is only up to the amount of the insolvency

· E.g.:  debt reduced from 500K to 150K, FMV of all assets = 200K, ( 50K of COD income.

(c) §108(a)(1)(C):  farm debt exemption from COD income system.  Farm debts forgiven do not give rise to COD income.

(d) §108(e)(8):  if a co. issues stock in exchange for a debt owed, it is treated as the same as if the co. had paid caish = to the FMV of the stock, e.g. 10 million in debt covered by the issuance of 6 mil (FMV) of stock to creditors creates 4mil of COD income to the co.

(e) §108(e)(4):  If a related party purchases a debtors debt (i.e. a wholly owned subsidiary), for COD purposes it is as if the debtor itself purchased the debt, ( the 1st party will realize the COD income

(f) COD income rules are subject to the policy criticism that they encourage people to file for bankruptcy

(g) COD income does not arise if the expense that is forgiven would’ve been deductible in the 1st place, e.g. business expenses, sub §108(e)(2)

(h) Possibility that sub (e)(5) a reduction of debt to a seller in the purchase of real property secured by a note will not be COD income, where no payment on the note has taken place yet.  As in a case where undisclosed hindrances are discovered after the note is executed, and there is a subsequent reduction in the value of the note.  Applies only where the debt is to the seller, ~ to a bank.

6) The tax attributes of COD income:

(a) The price of having debt discharged which is not taxed as COD income sub §108 is not totally forgone, just delayed

(i) Don’t pay now, pay later, when the party is no longer in bankruptcy or insolvency

(b) This is the case b/c the taxable basis after debt is forgiven is reduced by the same amount, so on sale of an asset, a larger gain is realized, and ( more tax liability is realized

(i) E.g. building purchased w/100K borrowed funds, debt totally forgiven, new basis in building is 0

(ii) You don’t get basis that you don’t pay for.

(c) The increased tax liability is twofold:

(i) Much less allowance for depreciation b/c of lower basis

(ii) Greater gain on eventual sale

(d) These rules on basis reduction only apply if you are not initially taxed on the forgiven debt as COD income.

(e) Note that 108 only excludes COD income realization in bankruptcy, ( a person whose property is seized as a result of bankruptcy can still realize cap gains on the seized property.

(f) §108(e)(2):  Tax attributes:

(i) Discharged loans that financed tax attributes require the adjustment of basis.  The attributes have to be reduced by an amount = to the amount of untaxed income.

(ii) Net Operating Losses:

· Exist to equalize tax differences b/w volatile earnings businesses and steady earnings businesses.  Carry over losses (NOL carry forwards), to offset income to create horizontal equity.  NOL carry-back’s allow for reflection of losses after years of net gain.  Sub §172, losses can be carried back two years and forward 20

· Corp’s in bankruptcy have substantial NOL’s

(iii) Credit Carryovers:  Excess credits that couldn’t be used in past years

(iv) Capital Loss Carryovers:  only deductible against capital gains

(v) Basis: as above

(vi) Foreign tax credit carryovers: 1 for 1reduction for tax paid to foreign govt’s

· To prevent double taxation

· Where foreign rate is > than domestic, the credit are not refundable but can be carried forward for use as against the foreign income stream

(vii) Hierarchy of Tax Attrib: NOL’s, Credit Carryovers, 

(g)  Foreclosures and COD income

(i) Where FMV of property foreclosed upon is < the total loan liability, the difference b/w the FMV of the collateral and the total loan forgiven is treated as COD income.  If the FMV of the collateral upon foreclosure includes capital appreciation, then this is taxed as a cap gain and the rest of the difference b/w the FMV on foreclosure and the total indebtedness is treated as COD

(ii) See 1.1001-2(c), example 8, p.1366

H) Tax Exempt Interest

1) §103:  Tax favored bond issuance by states or municipalities, or any smaller political subdivision (e.g. school district), Water and Sewerage

(a) policy is to assist states and municipalities by allowing for lower yields on the bonds, thereby reducing borrowing costs, and by making the issues more attractive to investors in virtue of their tax free nature

(b) Most states that have income taxes also exempt from tax their own bonds

(c) But the lower yields on these bonds represents an implicit or capitalized tax.  The tax free nature justifies a higher cost and a lower yield, a capitalized tax.

(i) These tax advantages are imperfectly capitalized though, b/c  the value of these bonds is highest to higher bracket taxpayers.

2) Tax Arbitrage

(a) Prohibition of State Tax Arbitrage: §103(b)(2)

(i) If states could do this these issues would explode and the feds would lose out big b/c the states are tax exempt

(b) Personal tax arbitrage limited by the non-deductibility of interest on loans incurred to buy tax exempt issues

(i) Blocked by §265

(ii) Limitation also extends to deduction of interest of loans whose proceeds are used to buy whole life insurance with untaxed inside buildup

(iii) Biggest example of allowed tax arbitrage under the code is the deductibility of home mortgage tax interest, when taken together with the non-taxation of the imputed income from the residence therein

(c) Tax Arbitrage by Financial Institutions

(i) Use the debt to equity ratio (i.e., the percentage of debt relative to the assets) of the bank itself to determine how much of the purchase price of the bonds is financed by the debt holdings of the bank.  Use this to determine what portion of the bank’s debt is ‘Tainted’.  In other words, multiply the percentage of debt by the total amount of tax-exempt assets.  This gives you the amount of debt used to purchase the tax-exempt assets.  The interest on this amount of debt is not deductible.

VI) Transactions in Property

A) The Realization of Gains and Losses

1) Eisner v. Macomber:  A stock dividend (not to be confused with a cash dividend) does not represent a realized gain: Constitutionalizes the realization doctrine.

(a) IRS says that the FMV of the shares should be included in income, but the SC says ~ income, ( it cannot be taxed constitutionally.  Code § in question declared unconst.

(b) Case stands broadly for the proposition that only income can be taxed constitutionally

(c) The stock dividends are ~ income, and this is a direct tax, ( not constitutional to tax

(d) Interpreted as saying that the receipt of a stock dividend is not a realization event.  This is based on the rationale that the recipient owns the same proportion of the co. before and after the dividend.  The gov’t argued the contrary position that the recipient had received something of value even though the recipients wealth hasn’t changed.  Gov’t argues stock dividend and caish dividend are the same in that the original shares decrease in value after the dividend

(e) Most commentators think that Eisner’s holding constitutionalizing the requirement of a realization event for direct taxation has been effectively overruled

2) Eisner and The direct v. Indirect Tax Question

(a) Direct

(i) Early income taxes, pre 16th A., were struck down b/c they failed the direct tax proportionality requirement (Tax has to be in proportion to the number of people in the state, seen as a defensive measure to prevent the states from taking multilateral action against a single state by over taxing it.)

(ii) 16th A. allowed for direct, non-proportional taxation of income

(b) Indirect (Tax on transactions, ~ people)

(i) E.g. excise and corporate income taxes

3) Cottage Savings CB p.294 (Thoroughbred Marshall’s last tax case)

(a) S+L’s trade ‘identical’ packages of mortgages to realize a tax loss, but not a paper loss

(b) Baskets of mortgages have same bases, but the FMV’s are lower, so there was a realization event for tax purposes, generating NOL’s which were carried back to get refunds for past years

(c) The entire scheme was actually promoted by the regulatory authorities as a way for  treasury to subsidize the faltering S+L industry

(d) IRS balks, saying that this scheme does not give rise to a realization event, and so there is no loss for tax purposes (1.1001-1(a) p.1361

(i) Property ‘must differ materially in kind or extent to generate a realization event.’

(ii) IRS argument as to lack of material difference fails

(e) Court finds for the S+L, the obligor’s and the collateral differs b/w baskets and these are different legal entitlements sufficiently different to give rise to a realization event.

4) Policy Around the realization doctrine

(a) Against

(i) The practical effect of the realization doctrine is that it allows for a tax deferral which is the same as lowering the effective tax rate

· This characteristic gives rise to the argument that the realization doctrine is inherently non-neutral, because the effective tax rate on property varies with the amount of time the property is held (term of deferral).  The realization doctrine is ( sometimes referred to as the ‘Achilles heel’ of the tax system, because of it’s non-neutrality and the possibilities for arbitrage it creates

(ii) The implicit tax deferral which the realization doctrine allows for is also an implicit capital gains preference.  Those who argue for lowering further the already preferential cap gains rates can be countered with the argument, and that also §1014 (stepped up basis upon death) create very low effective capital gains tax rates

(b) For

(i) The liquidity argument:  It is unfair to tax on unrealized appreciation, instead it is better to wait until the property is sold and the caish is on hand to pay the tax.  W/o the realization doctrine, we would necessitate distressed sales in order to pay taxes on appreciation

(ii) The Valuation Argument:  The realization doctrine is tailored to meet the difficulties associated with the valuation of real estate and closely held corp’s.  Further, valuation by appraisal would be a significant expense.

5) Situations in which the realization doctrine is not the rule

(a) The Mark-to-market alternative:  Take into account gains and losses annually, operates on the implied fiction that assets are sold at year’s end, and basis is adjusted on the payment of the tax.

(i) Used in commodities options:  gains and losses calculated at the end of the calendar year.  The valuation concern here is mitigated by active trading and ( easy valuation, and the liquidity concern is mitigated by the depth of the markets (i.e. mkt.’s have high level of liquidity so sales need not be distresses)

(ii) Used in tax on dealers in securities (e.g. bond resellers) for the same reasons as above

(iii) The mark to market system seems equally applicable for these reasons to publicly traded stock, and there is support for this position.  Will we ever go there?  When Graglia is dean of the law school.

B) Like Kind Exchanges

1) Like Kind Exchange: §1031 for ‘property held for productive use in a trade or business or for investment’

(a) Qualified transactions will not require the recognition of gain or loss, i.e. basis is retained where the FMV of the swapped properties is =. Basis carried over from old property to new.  Not a forgiveness of tax, a delay. Policy as to why?

(i) Liquidity Argument:  No caish generated

(ii) Essentially a continued ownership, continuity off investment justifies this treatment

(b) §1031(a)(2)(b):  Stocks, bonds, and notes excepted from this treatment

(c) The possibility of deferral of gain in this rule can combine importantly with the elimination of gain on death sub §1014

(d) Like kind exchange transactions include those where what’s exchanged is business for investment, vice versa, etc.  What is important is the recipients tax treatment of the property given and received, such that one party to a transaction can qualify and another not.(e.g. where personal property is traded to A for whom its use will be for business or investment.)

(e) IRS is very lenient on the like-kind exchange rules (e.g. OK to trade a dump for a McDonalds)

(i) But see e.g. rev. rul. 82-166 p.306, where a gold for silver bouillon exchange is deemed not to qualify for like kind b/c of the different uses of the elements (82-166 is in probable contravention of the regs and ( is not likely good law)

(f) LKE rules oddities

(i) If a buyer and seller agree to exchange property, and buyer purchases the property that seller wants and then they engage in an LKE of the properties, then seller can transfer his original basis to the newly acquired property and avoid realizing a gain

(ii) Reg. 1.1031(k)(1):  if a seller sells pissacre and has proceeds put into trust account (under a trustee), the seller is not treated as having received the proceeds of the sale.  If he then instructs the trustee to purchase a replacement property, crapacre (of course limited to business and investment use) w/in 6 mos., then the transaction will still qualify for LKE treatment.  Requires that the replacement property be picked out w/in 45 days of the 1st sale, and the possession is taken of the replacement w/in 180 days

(iii) Since LKE is conceived in a policy of continuity of investment, holding periods tack for the purposes of capital gains tax consideration (The basis and the holding period follow the parties in the LKE)

2) Like Kind Exchange and Boot (Caish or other consideration that doesn’t qualify for LKE)  Shit, Shit, Shit.

(a) If you receive boot in an LKE the gain recognized equals the lesser of:

(i) The gain realized, or:

(ii) The amount of boot received

(b) §1031:  Preservation of gains and adjustment of basis in LKE

(i) The basis of the property acquired in the LKE is the basis of the old, less the amount of boot received, plus the amount of gain recognized (per formula above)

· If the transaction realizes a loss and boot is received, use formula ( new basis should equal FMV of property received plus the loss

· If the boot exceeds the gain, use formula ( then new basis should = FMV of the property received, b/c if boot rec’d exceeds the gain then all of the gain is recognized

· Otherwise, new and old basis are =.

(ii) If caish received is not gain, then it’s a non-taxable reduction of old basis to new basis

3) Quasi-Like Kind Exchange and Corporate Bonds

(a) Recapitalization

(i) When after a corp. issues bonds interest rates go up, the value of the bonds go down.  Should the corp. choose to issue new bonds to replace the old, the amount of the value the new bonds required to retire the old debt is equal to the FMV of the old debt, the corp. will realize COD income in the amount of the difference b/w the original issue price and the cost of the new debt; One would think that there would be a concurrent loss in the hands of the holders of the bonds, but there isn’t.

· Recapitalization of debt such as this is sub §368(a)(1)(E), does not however trigger a realization of loss for the bond holders sub §354(a)(1), making this a quasi-like kind exchange for the holders (Rule applies to stocks and bonds)

A. This is supported on the rationale that there is a continuity of interest by the bondholders

(b) Modifications of Debt Instruments

(i) Significant modification of the maturity date, interest rate, or identity of obligor may result in a deemed exchange and a realization event sub reg. 1.1001-3

· This is the case even if there is no exchange of bonds, and the corp. may realize COD income if there is a savings to them on modification

· The same change in valuation of bonds as is done through recapitalization can also be achieved through the modification of the terms of the instrument

(ii) Bond Retirement Premiums

· Where a corp. issues bonds whose value appreciates, it can issue new bonds to replace the old at the current FMV of the bonds.  The corp. doing so recognizes a tax loss due to the ‘bond retirement premium’ it pays in exchange for the old bonds, and for the holders it is treated as a recapitalization as above and they recognize no loss/gain.  No taxed to the bondholders sub §354(a)(1).

· Under GAAP, however, this move would necessitate the accounting of a book loss, which the corp. seeks to avoid.  ( they, instead of issuing new bonds, modify the terms of the old enough to trigger a deemed exchange, and then they recognize a tax loss without the book loss.  The modification doesn’t trigger a realization event for book purposes.

· This strategy reveals the unsophisticated nature of GAAP in the area, which allows for the avoidance of realizing a book loss through modification, when what has take place is a functional exchange of bonds

C) Involuntary Conversions

1) §1033:  Where the proceeds of the involuntary conversion (i.e. insurance payout) is reinvested in a similarly related use or service, then gain ~ recognized, and we carry-over basis

(a) 2 years after the close of the taxable year in which you receive the insurance disbursement

(b) Allows for new purchase or rebuilding

2) Involuntary Conversion and LKE compared

(a) IC §1033 is easier on the taxpayer than §1031 LKE, but this is justified b/c of the involuntariness

(i) e.g. the receipt of caish in LKE triggers a realization of gain, but the same isn’t true sub §1033

(b) Under §1031, losses aren’t recognized, but under §1033 you can recognize the loss even if you reinvest

(c) The §1031 rules are not elective, but the §1033 rules are, such that you can choose to recognize the gain by not reinvesting

(i) if a property has been taken by imminent domain or other involuntary conversion, the TP has an election to either recognize the gain at that time, or to preserve the gain for taxation later

(ii) if you receive caish you can elect recognize the gain currently, so as to take advantage of present lower bracket status.

(d) §1033 applies to personal property in addition to business and investment

(i) §1031 only applies to property held for business or investment purposes 

(ii) An imminent domain taking is involuntary for the purposes of §1033, §1033(a)(1)(B):  involuntary conversion lies where even only the threat of condemnation is acquiesced in

· But note where the state gives an identical, similar parcel (which is both an LKE and an involuntary conversion) the LKE rules control.

3) §1033(b)( Basis of newly acquired property:  Cost of new property – Gain not recognized in the acquisition of the new property(total gain realized – (fmv1-fmv2)) = basis in new property.  I.e. decrease the cost of the new property by the gain realized but not recognized, thereby saving that gain to be taxed later.  

D) Home Sales

1) Law on home sale gains has recently changed

(a) Old rules

(i) Old §1034: if you buy a new house for at least as much as you sold the old house, i.e. a rollover, you didn’t have to recognize any gain (a deferral of gain rule)

(ii) Old §121: if you’re 55 or older, you could sell your house and exclude permanently some portion of the gain, (A one time forgiveness rule)

(b) New Rules

(i) As long as the gain from the sale of a house isn’t > 250K (For taxpayers filing singly), the gain is not taxable, A forgiveness rule, w/no carryover of basis

· amounts exceeding the exception are subject to regular cap gains treatment

(ii) For married filing jointly, you can exclude up to a total of 500K, depending on other considerations

(iii) The old rule as to carryover of basis was more favorable to the rich, and the new rule which is capped as to value of the exclusion is less favorable

(iv) Exclusion can only be invoked once every two years, max 250K for singles, 500K for married's jointly every two years

(v) Applies only to ‘principal residence’ sales, but this includes houseboats, and trailers (Jesse Ray take note)

(vi) ‘Two out of Five Years Rule’ and the new §121

· Two tests:

A. Property must’ve been owned by the taxpayer 2 out of the five preceding years

B. Property must’ve been used by the taxpayer as their principal residence for an aggregate of 2 out of the five preceding years

· Under normal circumstances, unless both are met, the taxpayer can’t invoke the exclusion of §121, and all of the gain is taxable as a capital gain

· If the two tests aren’t met because of a change of employment or health or other unforeseen circumstances (see e.g. reg’s) then the taxpayer gets a break

A. Do a ratio test, such that amount of time which tests are met represents proportion of the exclusion available (Tests met 1 yr., get 50% of the exclusion)

(vii) §121(b)(2):  Eligibility for married exclusion of 500K

· Must be married filing jointly

· either spouse needs to meet the ownership 2 out of 5 years rule, and both need to be able to satisfy the use 2 out of 5 years rule, and neither spouse cannot have sold a house within the last two years

· §121(d)(1):  When people get married, but the ownership and use tests for the 500K exclusion are not met, they can still use the individual value exclusion (250K) even if they file a joint return

2) Calculation of gains in home sales: (Amt. realized in the sale – Expenses in selling) – Basis (i.e. purchase price + cost of improvements) = Gain

E) Installment Sales (suppose property sold for 1 mil., basis 200K, consideration is promissory note providing 100k/yr + 10% interest on remaining principle, i.e. year 1, 100K + 100K interest)

1) Where consideration for a property sale is a note, under normal tax principles all of the gain on the sale would be taxable in the year of the sale, but the problem is the seller wouldn’t have the caish to pay the tax on the whole gain in year 1

2) This is cured by the installment method of accounting (Optional, default rule is that you’re under the installment regime unless you opt out.)  Allows seller to defer including in income gain from the sale until the receipt of the caish from the buyer

(a) The installment method doesn’t apply to the interest portion of the payments, which is treated as ordinary income

(b) Each portion of installment which reflects the principal payment is apportioned like (gain/sale price), and this % determines how much of each payment is allocated to gain and how much is basis recovery

(c) The installment method is asymmetrical, b/c the buyer gets all of the basis of the property up front, even though the seller hasn’t paid all of the tax on the gain yet.

(d) Treated a s a tax expenditure, b/c there is a deferral of tax (Time value of money, time value of money)

(e) §104 IRD rule trumps the installment method sub §453

(f) Can’t be used in sales of publicly traded securities on the theory that there is no illiquidity problem

(g) Also not available to dealers in property ( on theory that these parties have methods available for financing which short circuit the liquidity problem

3) The Caish Equivalent Doctrine

(a) You have to pay interest on the deferred taxes sub §453A(b)(1) where the sale price exceeds 5 mil in one year (§453A(B)(2)(B)).  Equivalent to a ‘tax’ on the deferred tax

(b) The installment method is justified on liquidity concerns, but impact on revenue mitigated by requirement of current interest payment on deferred taxes

(i) Characterizes deferred taxes as loans from treasury, and 453A charges interest on these ‘loans’, but this is quite a lax rule

(c) There is an argument to be made that we could extend the use of this doctrine and method to tax unrealized gains which are untaxed under the realization doctrine.  But this would inspire tax rebellion.

F) Depreciation Recapture

1) depreciation is based on published schedules, and ( doesn’t reflect actual economic depreciation, and recapture comes into play when the price realized on the sale of depreciated property exceeds its value under the schedule

2) Amounts ‘recaptured’ on sale up to the original basis are taxed as ordinary income

(a) Why?  You’ve taken deductions for the depreciation against ordinary income, and so gains b/w the adjusted basis and the original basis should be taxed as ordinary income

3) Gains made on the sale of depreciated property exceeding the original basis are taxed as cap. gains, §1231

4) The installment method is not available where there will be gains in virtue of depreciation recapture, but gains above the original basis do qualify for the installment method.  Gain in virtue of depreciation recapture has to be recognized immediately when the consideration is a note, but it is still available for the supra-basis gains in the same transactions. (rationale:  you you’ve already got a good deal with the depreciation taken over the last few years)

5) Depreciation recapture rule applies generally to §1245 property (equipment) only, and importantly, there is no depreciation recapture for real estate, ( gain above adjusted basis is not taxed as ordinary income

(a) e.g.:  office building which gets depreciated against ordinary income doesn’t generate ordinary income when gains are realized b/w adjusted and original basis.  No good policy here, “just blatant favoritism, just blatant favoritism”

G) OID and Market Discount Bonds

1) Bond Basics 

(a) Coupon Rate ( rate of periodic interest paid, “Zero’s” ( bonds which make no periodic payments of interest pending maturity

(b) Zero’s are attractive to issuers b/c there is no caish outflow until maturity.  Zero’s are priced as present caish value of amount on maturity with reference to market yield

(c) The SC has declared that gain on the zero at maturity is treated as ordinary income, but the recognition of the gain is delayed

(i) If this were the rule we would over tax the issuer who couldn’t deduct the interest paid until the end, and we’d undertax the purchaser who wouldn’t realize the gain until the end

(ii) Implicates also the “Clientele Effect”:  deferral is more valuable to higher bracket tax payers, ( they would gravitate to zero’s under this rule running up the prices of zero’s, and correspondingly, untaxed entities who wouldn’t be penalized by the delayed deduction of interest expense would rush to issue zero’s.

2) This default treatment of the zero, with its problems of over and under taxation on both sides of the transaction, are remedied by the OID rules

(a) The holder of the zero recognizes regular interest income yearly, and the issuer can deduct a corresponding amount annually (See Table 3, holder recognizes, and issuer can deduct, amount = to column B yearly)

(b) This rule does tax the holder even though they get no caish yearly, overlooks liquidity

(c) Many high bracket taxpayers (e.g. pensions) own zero’s b/c they have the caish on hand to pay the taxes for the interest income deemed recognized but not actually received each year. 

(d) This rule only applies when bond’s are issued at a discount, i.e. it does not apply when bonds are issued for par value 

(e) OID only if there is a discount at the time of issue (i.e. market yield > the coupon rate), this distinguishes it from market discount which arises after the bond is issued

(f) The OID rules represent a partial abandonment of the realization doctrine , i.e. you have to pay taxes on caish you have not yet received.

3) Market Discount (MD)

(a) MD arises where market yield increases after issue, i.e. interest rates go up

(b) the recognition of all gains in virtue of market discount are deferred, and then are included in regular income

(c) If the first buyer sells for a capital gain, then the buyer has paid more than the sellers adjusted basis, the sellers OID table must be scaled down to fit the buyers initial basis.  If the 1st buyer sells the bond for less than its adjusted basis, he recognizes an immediate capital loss, and the 2nd buyer has market discount whose recognition is deferred for tax purposes until maturity or until he sells the bond again.  If interest rates decrease a sellers OID table must be scaled down to fit the buyers price, by multiplying the sellers numbers yearly taxable interest allotment by the fraction ((face value (1K) – buyers basis)/(face value – sellers basis)), and the product of multiplying this percentage by the interest allotments on the sellers table =’s the interest allotments for the buyer

(i) this same calculation applies if the price of the bond has decreased b/c the mkt rate has increased.

(ii) Any time this happens, the seller will recognize a capital gain or loss, equal to the difference b/w the selling price and the sellers adjusted basis

(d) gains in virtue of mkt discount held until maturity are recognized as ordinary income, whereas the same gains would qualify for cap gains treatment is sold before maturity

(e) Gains in virtue of market discount is still taxable as ordinary income even on tax exempt bonds, that interest is being paid in virtue of market fluctuation

(f) Sales of mkt discount bond hypos

(i) Bond issued @ par, issue cost $750, mature $1000, $250 would be included in ordinary income

· What if sold 1 month before maturity for $990?  This is a gain from the sale of a capital asset, but the treatment of the gain will be partial cap gain, partial regular income

(ii) Assume bond is sold 1 year prior to maturity @ $920 (basis $750), $170 total gain

· Originally $250 of market discount on the bond, and we assume that $50 of market discount accrues yearly according to a straight line method of accrual

· ( if sold 1 year prior to maturity, we would say that $200 of market discount had accrued, $170 < $200, and ( we treat the entire amount under $200 as ordinary income

· Accrued market discount is treated as ordinary income, and amounts > than accrued market discount are cap. gains

· Using straight line amortization here is unfavorable to the taxpayer, b/c it overstates earnings on the bond.  Hurts TP in earlier years b/c their the present value increases less than by the straight line amount.  Straight line overstates the amount attributable to ordinary income in the early years, and under states it in the later years

· In calculating the accrued market discount, two options are available

A. The default method is the straight line method, as above

B. The alternative is to apply the OID table on a pro forma basis, to see what the income with reference to OID would’ve been, and any amount above this would by cap gains, this method of calculation is always more favorable to the TP
(iii) What if the coupon rate on the bond is < the market yield, $1000 par value, 10 years, 6% coupon, Market Yield 8%

· Pays $60 yearly ($30/6 mos), at the end of 10 years holder receives $1000 + $60

· On this bond, the holder would pay less than $1000, since you could make 8% on similar risk bonds.  The amount paid for the bond is the present value of the caish flows discounted to 8% ( $402.60 is the value of the interest payments and $463.19 is the present caish value of the $1000

· There is OID on these facts b/c the bond would be issued for $865.79 and will mature for $1000

· For yearly tax consequences we act as if the holder would make 8% yearly on their $’s, see e.g. table 4  (Bond par value 1K, coupon rate 6%, market yield at issuance = 8%, issue price 900 ( OID ( 1K at end.)

(g) If the coupon rate is higher than the market yield, then we have bond premium (a whole other bag of shit)

VII) Taxation of the family

A) marriage

1) Drucker v. Commissioner: Marriage penalty constitutional.

(a) H was a lawyer, and his wife was a computer programmer

(b) They file separate returns, using rates for unmarried individuals, contesting the law which requires use of either joint return (1(a)) or married filing separately (1(d))

(c) (’s argue unconstitutional b/c marriage is a fundamental right and protected under the equal protection clause: Rejected

2) Before joint returns

(a) H + W had to file separate returns

(b) Lucas v. Earl(TP): ( attempts to assign under state law ½ of his earnings to his wife in advance of his earning it.  This strategy was in response to the highly progressive tax system of that age, and this strategy could have reduced his overall liability

(i) per Holmes:  You can’t assign income.  Income is taxed to the person who earns it.  Still good law.  ( Earl will be taxed on all of his income, regardless of assignment.

(c) Poe v. Seaborn:  SC says that in community property states the income received by one party is split 50/50 by virtue of the state law.  This holding is ironic, b/c it effectively says the states can split income, but the taxpayers can’t, per Earl.

(i) This decision encouraged state legislatures to want to adopt community property law, to reduce their constituents federal tax liability

(ii) Congress changed the tax laws in response to this problem by adopting the concept of the joint return

(d) Joint returns arise out of the mess of Lucas and Poe

3) Once having gotten married, the joint return taxes the married's equally, b/c their taxed as one unit irrespective of who earns the income, effectively making the tax treatment of the couple the same as it would be under a state community property regime under Poe.

4) The Marriage Penalty (Imagine two couples:  A(50k) + B(50K) v. C(100K) + D(0K)

(a) marriage penalty and subsidy are purely the result of the progressive tax system.  The rationale behind the penalty is shared costs.

(b) A + B pay a penalty if they get married, their collective tax liability will be greater if they have to file as marrieds, rather than 1(a)

(c) C + D get a marriage subsidy, i.e. they pay less than the aggregate of their taxes when they were single

(d) Arguably the ability of AB to pay tax increases when they get married, b/c they move in together, and save according to economies of scale (only 1 washer/dryer needed, etc.)

(e) CD’s filing of a joint return has the effect of splitting their income and keeping them in a lower bracket

(f) It is impossible to have all three of these attributes in a tax system

(i) Progressive rates

(ii) Joint Return Structure, and:

(iii) Marriage Neutrality

· When AB marry, their taxes = CD, this is a joint returns system

· Under a marriage neutral system:

A. AB’s taxes when single should equal AB’s aggregate tax when married, same for CD

B. But the problem is if AB single equaled CD single, then we would not have a progressive tax system, i.e. higher percentage of tax on higher amounts of income

· ( If you want progressive rates and a joint returns regime, you can’t have a marriage neutral system.  There must be a marriage penalty or subsidy, or both

A. Or, as long as we keep i and ii, we can’t have iii by definition

(g) Generally filing married is going to be best, and that  in that general rule is that joint returns is joint and several liability for tax related crimes, but the innocent spouse rules step in to protect a spouse of a cheater who did not benefit thereby

(h) Rev. Ruling 76-255 forecloses the possibility of sham marriages and divorces to avoid the marriage penalty

(i) Boyter:  IRS says that the (’s have to pay as marrieds.  (’s go to the tax court. b/c there you can litigate the issue w/o paying the tax in advance.  If one goes to the dist court., one must pay 1st and then sue for a refund, but you do get the advantage of the jury if desired.

· Tax court. says that the marriages and divorces were not valid under MD law, ( they have to pay as marrieds.  The 4th Cir. affirms, but says the controlling doctrine is the sham transaction doctrine, ~ Md. law.  ( divorces could be valid sub state law, and still be sham divorces for the purposes of the code.

B) The Kiddie Tax

1) To prevent parents from transferring income to their kids so as to have it taxed at their lower rates

(a) People want to shift this income to their kids, but the treasury loses out

(b) People try to shift the income by transferring property to junior also, and then have the income from the property taxed to junior

(c) This takes advantage of the tax axiom that income from services is taxed to the performer, but income from property is taxed to the owner

2) Kiddie tax only applies to unearned income of the child (e.g. dividends, rents, interest, royalties, cap gains)

3) §1(g): Kid is taxed at the parents higher marginal rate if the kid is < 14 y.o.

(a) Kiddie tax applies only to unearned income (e.g. dividends, interest, rents, royalties, cap. gains, etc.)

(b) Why 14?  Policy of allowing savings for college

(c) If the little shit turns 14 before 12/31, then the kiddie tax doesn’t apply for that tax year

4) Kiddie tax can be avoided through investment

(a) e.g. investment in growth stocks: an asset which will appreciate

(b) e.g. in real estate:  Value will appreciate but not generate tax, as above, taking advantage of the realization doctrine

(c) reason for doing this is to take advantage of the 10K/year/individual tax free gift, and does allow for some transferal to what will be a lower rate when they realize the gain post.

5) Calculation of the kiddie tax

(a) does not apply to at least 1200$ of kids §1(g)(4)(A)(ii)(I), p.16:  kid is allowed unearned income in the amount of two times the standard deduction that he would receive otherwise

(i) parent claims child as a dependent and takes an exemption for the child, and ( the kid can’t take one for themselves, per §151, ( the standard deduction left for them is 700$, (formerly 500$ but indexed for infl) ( the amount of unearned income a kid can have w/o hitting the kiddie tax for ’99 $1400 (§63(c)(5)(A))

(ii) Suppose the dependent is s/o , < 19 years, and the parents provide over ½ of support, or a student < 24 and the parents provide over ½ of the support ( Then the amount of the unearned income exemption that could be claimed by the student is the lower value (i.e. $700)

(iii) DeMinimis Unearned Income is not subject to the kiddie tax:  the amount of the available exclusion is twice the kids standard deduction.

C) Divorce and Alimony

1) Alimony payments are deductible a/t/l, i.e. available for both itemizers and non-itemizers (§215(a)). Payments received must be included in income per §71(a)

(a) child support is not deductible or taxable to the recipient per §71(c)

(b) Property settlements are governed by §1041(a), ~ deductible by the giver, not included in income, basis inherited on property so transferred

2) Policies

(a) continues the joint return income splitting rationale

(b) if the giver had to pay out of after tax dollars, he may get the shaft

(c) For child support:  support expenses are not deductible usually, so we are not going to change policy for child support payments

(d) Property settlements are not taxed b/c there is no enrichment, and ( basis is inherited.  The wife is just getting her share.

3) These rules end up being complex in action b/c it can be hard to distinguish what’s a property settlement, alimony or child support.  The govt is concerned that property settlements or child support may be characterized in terms of alimony, and ( they would lose out, even though B pays taxes, b/c B is usually in a lower bracket.  I.e. the value of the deduction is greater than the value of tax revenue on the receipt.

(a) If we had a genuine flat tax this problem would go away

(b) You can’t elect to have property settlement or child support to be taxed as alimony, but not the reverse, but you can elect to have alimony non-deductible.

4) What constitutes alimony

(a) see §71:  must be caish, not property.  §71(b)(1)(D), payments must terminate on the payee’s death, lest they look like child support or property.  Payments can’t be contingent on any age achievement of the little bastards, lest it look like child support (if payments do cease w/in 6 mos of such an event, it gives rise to a rebuttable presumption that it wasn’t alimony.

(b) No front loaded payments sub §71(f):  e.g. 1 time payment.

(i) if payments end up being front loaded ex post, then we correct by making the giver include in income the amount deducted less 15K in year 3, and the recipient deducts amount of year 1 payments less 15K.  This is b/c a front loading of 15K is allowed under the alimony rules

5) Where divorcing parties have a wide rate differential, it can be more economically rational for the parties to arrange alimony, even though this will be taxed to the recipient party, b/c they can arrange terms that will allow for the parties to ‘split the savings’

(a) i.e. the recipient can receive more, and the poor bastard can actually pay less

(b) Very Important:  Even though there is no alimony under TX community prop. rules, parties can deem transfers alimony for tax purposes, and take advantage of the saving splitting rationale where there is a rate differential

D) Earned Income Credit ( §32

1) Refundable:  ( a form of transfer payment or ‘welfare’ incorporated into the tax system, for the benefits of the po’ working man.

2) Effectively allows for a negative income tax in some cases

3) The Credit percent varies whether the taxpayer has kids or no kids.

4) The phaseout percentage rule for the EIC creates a negative incentive to earn income above the phaseout amount

(a) e.g. above 11,610, you lose .16¢ of the credit for every dollar of earned income

5) But, contrariwise, the credit also creates an incentive to overstate income, b/c you have to have a minimum amount to qualify for the EIC

6) EIC is listed as a tax expenditure

7) §32(j): amounts pertinent to the EIC are indexed for inflation

VIII) Personal Deductions

A) Casualty Losses

1) When you sell a house, losses in virtue of market decline are not deductible, as is the case for losses realized on the sale of any personal use property

2) But, a deduction can be claimed when the loss is occasioned by a theft or casualty, rather than by personal consumption

3) The Casualty Loss Deduction §165(c)(3)

(a) The decline in virtue of the casualty is deductible, but ~ the decline in value in virtue of previous consumption.  Further, unrealized appreciation is not deductible under the rule.  The amount deductible is the lesser of the basis or the FMV

(b) §165(h)(2):  Only deductible to the extent that they exceed 10% of your AGI.  e.g. AGI = 100K, Casualty loss = 15K, deductible loss = 5K

(c) DeMinimis Limitation:  casualty has to exceed 100$

(d) An itemized (b/t/l) deduction

(e) If the loss is covered and compensated by insurance, then ~ deductible. 

(f) Hypo of truck used for business purposes:  the amount deductible is = to the adjusted basis, as a business expense deductible above the line.  This is different from a car that is used for personal purposes, which is deductible b/t/l as a casualty loss at the value of the lesser of basis or FMV
4) Casualty losses enumerated in the §: Storm, fire, shipwreck, or Other casualty or theft
(a) the ‘other casualty’ clause has been interpreted by reference to the well worn and loved principle of Ejusdem Generis: to wit, the other loss has to be ‘sudden, unexpected, or unusual’

(i) Why?  If a loss is gradual, it looks like consumption.  This effectively excludes losses which might be attributable to consumption in part from deductibility.

(ii) The rule requiring sudden, unexpected, or unusual circumstances only applies to personal use property  ~ applicable to business property. Furthermore, the 10% floor does not apply to business use property casualty loss.  These limitations on casualty loss deductibility as to personal property attempt to exclude the deductibility of any loss which is occasioned or appears to be occasioned by personal consumption.(EXAM)

B) Medical Expenses

1) deductible to the extent that they exceed 7.5% of AGI (i.e. only part > 7.5% of AGI is deductible)

2) Itemized (b/t/l)

3) Policy arg’s in favor:

(a) such expenses detract from ability to pay tax

(b) you have to be pretty sick to see this deduction

4) There has to be a direct and proximate relation b/w the expense and the disease (e.g. “messed up” ( malt liquor)

5) expenses related to the preservation of general health are ~ deductible

6) Cosmetic surgery is ineligible unless the procedure is necessary to alleviate a deformity §213(d)(9). e.g. a face transplant for Darlene Aquino

7) Includes only personal and dependent expenses only, not for unrelated

8) Changes to a residence to accommodate a condition are deductible to the extent that they do not add to the FMV of the house. (e.g. a pool for 30K adds 10K to the value of the house, ( 20K deductible)

9) Health insurance premiums are deductible to the extent that they exceed, aggregated with other medical expenses, 7.5% of AGI

C) Missing some material on personal exemption and std deduction

1) §151(d)(3):  Above x$ AGI, the amount claimed for personal and dependent exemptions decreases, phaseout, for every 2500$ increment you lose 2% of the exemption values

2) Personal exemptions §151(d)(1)

(a) amount is set by the above code section, adjusted for felatio

(b) a certain amount of gross income is not taxed, along with the std deduction

(i) to take into account living expenses in determining peoples ability to pay tax, and children get a bonus b/c we love them

(c) 2700$/person in ’98

3) §151(d)(3) in higher brackets the std deduction phases out, the current threshold amount is 186,800 for married, and 124,500 for singles. Total phase out amount for marrieds is 309,301.

(a) 2% of deduction is lost for every $2500 dollar increment above the threshold

(i) this is actually a disguised rate increase, b/c not only do you have 2500 more income but you lose a corresponding amount of the deduction, so it creates more taxable income.

(ii) the more kids you have the more deduction you lose, taxes large families more harshly.  Economic birth control.  

D) Charitable Contributions:

1) policy rationale is just to encourage charitable giving, by reducing the cost

2) Only deductible when given to org’s enumerated in §170(c)

(a) e.g. schools, churches, univ., tax exempt hospitals, and state/federal/local gov’ts

3) §170 and §501(c)(3) et seq.

(a) §501 lists org’s which are exempt from FIT (e.g. chambers of commerce, business org’s, country clubs)

(b) §501(c)(3) entities roughly correspond to §170 entities which are allowed to receive charitable contributions which are deductible

(i) SC and the mormon missionary kid case: earmarked contribution is not a gift to the church, it is effectively to the kid and ( is not deductible

4) Charitable intent is key:  the requisite intent must be a ‘detached and disinterested generosity’ (qua Duberstein), w/o this intent the contrib. may not be deductible

5) Limits to deductibility

(a) Corp’s can deduct contributions up to 10% of their income

(b) individuals can deduct contributions up to 50% of their AGI in any year, but amounts in excess of 50% of AGI can be carried forward for 5 years

6) An itemized (b/t/l) deduction.  If you take the std deduction (i.e. don’t itemize) then charitable contributions are useless for tax purposes.

7) Charities favor the increase of top end marginal rates, b/c that way the donors get more benefit for their contributions

8) If one takes this to be a tax expenditure (it is listed, and such characterization is consistent with H-S income, see p.21 TEB), then it is controlled by high bracket payers, who are the most likely donors

(a) This is a voluntary donation, and to that extent it does not detract from ability to pay taxes, i.e. it is  a voluntary, non-business expenditure that doesn’t impair ability to pay tax

9) Counter-argument that these are not tax expenditures:

(a) most expenditures are related to consumption (e.g. mortgage interest), and this is ~

(b) These donations generate positive externalities, and we want to encourage this

(c) efficiency argument: it costs less to have the donors give the money this way.

10) Ottowa Silica, p.483

(a) ( deducts for the donation of property, but the IRS says that the gift was intentionally directed to increasing the value of the remaining properties retained

(i) Basically an argument that the gift lacks requisite intent for charitable  contrib., ( ~ deductible sub §170.  B/c the land was not deductible, the cost basis of the donated land has to be added to the basis of the remaining parcels (for cost recovery purposes???)

(b) Receiving incidental benefits (i.e. getting something named after you) does not defeat the requisite intent, only substantial benefit does so.

(c) If s/o donates something and gets something in return, it is ~ a contribution, it is a market transaction, if the sale price of the goods is what is paid in kind

(d) What is received in return must be subtracted from the donation, i.e. subtract the FMV of what’s received

11) Enforcement of charitable contrib. rules

(a) For single contrib. > $250:  the charity has to give the donor a letter confirming the gift, and taxpayers cannot rely on cancelled checks for tax purposes
(b) For contributions > $75 and something is given in return:  Charity must give the donor a letter stating the FMV of the premium given back

(i) but trivial gifts in return (e.g. KLRU velvet ball cozy) can be ignored and the taxpayer can deduct the full amount

(c) Tuition payment disguised as contributions to parochial schools

(i) facts and circumstances test:  is the contribution sought or given at the same time as tuition is due?  Could the school survive w/o such donations? (what would that indicate, if the can’t is it tuition or a gift?)

12) Donated svc’s (e.g. volunteered time) is not a deductible expenditure

(a) consistent with the policy that there is no basis in human capital

(b) Tax rules do not impute value to time given freely in the charitable context

(i) e.g. L on the board of a charity is just being nice, so why would he do it?  Broads?  Booze?  Beefsteak?

13) Contributions of property in kind:  §170(e)

(a) e.g. stock FMV = 6K basis = 1K:  A charitable contrib. of these stocks would be valued at 6K, ( gifts to charity of certain kinds of property are deductible at FMV.  Allows for a deduction of unrealized appreciation

(b) Reduces the cost of giving but does not make the TP better off, b/c it is LTCG property anyway

(c) ad hoc rationale to encourage people to make charitable contributions

(d) to qualify property must be eligible for LTCG treatment on the day of donation

(e) It is possible that if the marginal rate or the applicable tax rate on the property exceeded 49% (e.g. 60% flat tax) then the donor might be better off giving???

E) Interest Expense Deductibility:

1) Basic rule:  Use of loan proceeds determine deductibility

(a) use the mechanical tracing rules (reg 1.163-8(T)(c)) to actually see what the proceeds are used for

(i) the tracing rules are extremely rigid, so we look to what this actual dollar bought.  This approach ignores the fungibility of money.  But its still the current rule b/c the alternatives just get way too complicate.

(ii) Suppose Dick wants to buy a car but doesn’t have the money, but he has stock.  He could sell the stock to buy the car, and then take out a loan whose proceeds are used to buy the same stock.  The expense of the loan here would be investment interest.

2) Business loan interest:  deductible a/t/l

(a) except:  interest on loans during building construction are not currently deductible, rather the expense is capitalized into the basis of the building

3) Home mortgage Interest:  deductible w/in limits

(a) Acquisition indebtedness and home equity indebtedness

(i) Acquisition indebtedness b/t/l (itemized) deduction

· Interest on debt incurred < 1 mil is deductible where for home acquisition

· > 1 mil, interest exp. on first mil is still deductible

· applies to one other home as well, so acquisition debt for both cannot exceed 1 mil, and maintain interest deductibility

· sub §163(h)(3): debt incurred to purchase, construct, or improve the house qualifies for this treatment

· As the acquisition debt is paid off, it becomes impossible to re-fi the original loan up to the original acquisition cost, but you can borrow up to 100K of home equity w/deductible interest expense under other rules

· This is a huge tax expenditure, why is it an expenditure?

A. personal expenses are usually not deductible

B. or, b/c the imputed income from the occupation of the house is untaxed

(b) Home equity loan interest

(i) interest on these loans is deductible on the first 100K of the debt, regardless of the use of the loan proceeds, the only exception being used to purchase tax exempt debt instruments (synergizes w/§265)  If your equity is less than 100K, you can only deduct loans backed by that portion of actual equity that you have.

(ii) Limited by the amount of equity in your home

(iii) Policy here:  who knows, “it’s a boondoggle, no justification”

4) Investment Interest (interest on debt incurred to buy investments, includes margin borrowing):  deductible, but only to the extent of net investment income.  Excess investment interest is carried forward indefinitely

(a) Investment interest is deductible only b/t/l, despite the fact that investment income is included in AGI, ( if s/o doesn’t itemize they lose the deduction but are still taxed on the income

(b) Limitation on deduction is created by the realization doctrine:

(i) if you could deduct the interest expense while being allowed to defer the gain in  the purchased securities, you could be mismeasuring your income

(ii) creates what’s known as the ‘basket approach’ (unrelated to the Chinese swing-fuck approach):  interest in the basket is netted out against the investment income (minimizes mis-measurement problem)

· for this purpose, interest income, dividends from stock and royalties are net investment income

(c) Rule stops tax arbitrage

(d) Where there is no gain from the investment, there is no deduction available for the interest on loans taken to purchase the investment

(i) This causes a loss in economic terms(negative H-S income), but not a loss for tax purposes

(e) Margin accounts are an everyday source of investment interest

(f) Capital gains are not included in net investment income, b/c of the anomaly that would inhere in allowing cap gains which are taxed at preferential rates to be included in the amount that determines what’s deductible against ordinary income

(i) You can include cap gains in the basket for determining interest expense deductibility, but to do so one must tax the cap gains as ordinary income, to overcome the anomaly.  The benefit to this is you don’t have to do it for all cap gains. You can have only a portion of your cap gains taken at the regular rate to offset your investment interest, and then retain the rest for taxation at the preferable rate

(ii) if you feel like you’ll have some investment income in the future, best to stick with the LTCG treatment as to all of your gains.  If you suspect not to have investment income in the future, more valuable to take what gains you do have and elect to have them included in regular income to the extent of the expenses.  This deprives you of a deduction in later years, but you knock out the interest expense currently.

5) Personal Interest ( ~ deductible

(a) includes credit card debt interest, car loan debt interest

(b) Policy arg:  it’s personal and also the non-taxation of the imputed income that the goods generate (same reasons why you can't depreciate them)

(c) Chirelstein, p.177:  If you don’t let people deduct interest, they are improperly denied the benefits of the tax exemption of the imputed income to be gained from the goods.  Unfairly favors people who buy for caish who get the benefits of this imputed income.

(i) Counterarg to this policy argument:  While allowing for the deduction of personal interest eliminates the inequality b/w caish and credit buyers, it creates another inequality b/w the borrowers to buy a car and the borrowers who borrow to buy investments whose income generated is taxed.  I think this is what T. Evans, Esq. thinks about while he’s jacking off.  

(d) Lenders are overtaxed, borrowers are undertaxed:  Borrowing is better ( for higher bracket TP’s such as corps, and non-taxed and little taxed entities will be more favorable to lending (e.g. pensions)

(i) Assuming inflation exists, the amount the lender gets back as interest payments actually has two components, a real interest component and an infelationary component.  The inflationary component is actually like a return capital to the lender, but the lender has to pay tax on the entire interest received, leaving only a very small after tax income from the interest payment stream.  Lenders are ( overtaxed.  Borrowers, if the interest is deductible to them, get a deduction for the full interest payment, even though their real cost is less due to inflation.  Thus borrowers are undertaxed

6) Educational Loans: §221

(a) interest expense up to $1500 (for ’99, for ’00 = $2000, per §221(d)) deductible yearly, a/t/l (good b/c non-itemizers can take advantage of it)

(b) Also covers loans taken by parents on behalf of dependents, §221(e)(1)(A), very liberal

(c) Limited to the 1st 60 mos. that payments are made, i.e. more help for the early years when people are getting ‘exstablished’ 

(d) Not indexed for inflation

(e) Interest expense on old loans can be deducted, but the 60 month clock started running when the payments began.

(f) Benefit phased out starting at 40K, and completely phased out at 55K for singles, for marrieds it’s 60-75K.  Phaseout is indexed for inflation

F) Deductibility of state income and property taxes

1) state and local real property taxes are deductible sub §164(a)(1), personal property taxes such as on a car and state and local income taxes

2) These are all itemized deductions

(a) the tax deduction and the mortgage interest deduction are usually> than the std deduction

3) Sales tax on personal items is not deductible, tax on items for business purposes is capitalized into basis

(a) state income taxes are therefore preferable to TP’s, if we can trust the state legislatures

(b) In a ‘normal’ system state income taxes would not be deductible and ( they are a tax expenditure

4) employees share of fica (7.65%) is not deductible, but the employers share of fica is an a/t/l deduction

5) Pro-deduction

(a) revenue sharing (i.e. a grant to the states to help the state deal with ‘national problems’ to wit homeless, hunger, etc.)

(b) these taxes are not voluntary expenditures of the TP, and they get nothing in return

6) Anti-deduction:

(a) subsidizes high tax states

(b) buying government services, so it could be characterized as a personal expense

(c) The fact that people don’t move is a reflection of the fact that they receive an adequate share of services for the state tax money.

IX) Deductions for mixed business and personal expenditures

A) Hobbies and Business T + E expenses

1) Hobbies

(a) Nickerson: Hobby Losses, p.516

(i) ( incurs substantial expenses to fix up the farm, and treats them as business losses (i.e. where a business loss is where income < expenses(losses) incurred)

(ii) IRS says that these are hobby losses, and expenses incurred in the pursuit of a hobby are only deductible to the extent of hobby income, which was 0 on these facts.  Hobby losses in excess of hobby income are not deductible.

· For FIT purposes, expenses are treated as consumption, and when such expenses are deductible they are tax expenditures

(iii) Hobby expenses are deductible to the extent of hobby profit, but limited by a hobby-by-hobby basket test.

(iv) Expenses from the hobby are deductible up to the income from the hobby, but since §164 deductibility of property taxes is independent they are fully deductible, but they wipe out a corresponding amount of hobby income.  Property tax deductions can wipe out hobby expense deductibility this way.

(v) Whether an activity is a hobby or not is a matter of subjective intent:  In order for an activity ~ to be a hobby, one has to primarily intend that the activity is to make a profit.  Importantly, the reasonableness of this aspiration is immaterial.

· Evidence of this intent:  The taxpayer should act like they’re trying to make $’s, and keep books and records, and to make efforts to run the operation in a business like fashion

(vi) The tax court says the losses indicate hobby, but the cir. court says that these substantial expenses were made in anticipation of long term profits

· On these facts, it is OK to expect to lose $’s for 10 years, so long as gain is expected thereafter.  The requisite subjective intent can be met by intent to profit in distant future years (although 10 is probably near the outside limit I’d guess).

(b) Hobby expenses are deductible b/t/l

(i) Gambling losses qualify for hobby loss treatment, and ( are deductible to the extent of winnings b/t/l also

(ii) Hobby expense deduction is limited by §67, the 2% rule which applies to all ‘miscellaneous itemized deductions’.  These deductions are only available to the extent they exceed 2% of AGI

2) Business T + E expenses: §162(a)(2) for travel expenses related to trade or business

(a) Code here reflects an attempt to classify expenditures as of two types

(i) expenditures incurred to produce income

· generally deducted, no personal pleasure derived therefrom, and they are decreases in economic income

(ii) expenditures incurred for pleasure or ‘personal consumption’

· activities from which we get personal value or pleasure, ~ deductible b/c consumption

(iii) Hobby losses are a good example of where a problem arises in trying to classify an expenditure as one or the other, they are treated as personal consumption, but the losses are deductible b/t/l subject to limitations supra.  The hobby rules are ( unduly generous if the hobby is actually personal consumption

(b) Cant be for amounts that are lavish and extravagant, but 1st class is OK, so what the hell is extravagant?

(c) Business meals and entertainment is deductible only up to 50% of the amount incurred (§274(n))

(i) Since these entertainments are a mix of personal and business expense, this is an arbitrary rule designed to exclude the personal consumption aspect.

(d) Lodging expense is 100% deductible, since it is a clear ‘duplicate expense’

(e) §274 provides two standards for determining the nature of business entertainment expenses

(i) The ‘directly related to business’ standard, 

· easier to meet, e.g. a business lunch

(ii) The ‘associated with’ standard

· the entertainment precedes or directly follows a business activity (1.274-2(d)(3))

(f) §274 substantiation requirement

(i) §274(d) requires documentation of amount of expense, time and place, business purpose, and the business relationship.  For tax purposes it is best to keep very careful and contemporaneous records of the claimed business entertainment

(g) §274(n):  The 50% Haircut Rule:  i.e. git yer fuckin har-cut hippy!

(i) One may argue that the entire amount incurred to entertain a C should be deductible, but the treatment of the L here is an example of ‘substitute taxation’, i.e. we overtax the L b/c the C doesn’t have to report the lunch as income.  But substitute taxation only works where the marginal rates of both parties are the same.  As a matter of tax policy, substitute taxation is dangerous to rely on.

(h) Correll, p.102, Chirelstein

(i) In order for meal expenses to be deductible, you have to be on a trip of sufficient length that it necessitates an overnight stop and rest before returning home.

(ii) Interprets §162(a)(2) as requiring an overnight stay, ‘stop and rest rule’

· Sort of ridiculous b/c say you fly to Mexico to get some drugs, and you have lunch and fly back that evening, ~ deductible, but if you do the same and stay overnight and meet with the traffickers again in the morning and then fly back the meal is deductible, but subject to the ‘50% haircut’ rule

(i) The ‘Primary Purpose’ Analysis to determine travel expense deductibility

(i) 4 days work/1 day play ( primary purpose is business ( the airfare is deductible in its entirety, but the extra day of hotel cost is ~ deductible, 1.162-2(a)

(ii) 1 day work/4 days play ( primary purpose pleasure, no airfare deduction, but 1 day of lodging is deductible

· Alternatively speaking, additional marginal costs ~ attributable to business are ~ deductible

· The primary purpose test determines the ‘big picture’ cost treatment, then look to the marginal costs

· While the regulations make the determination based on time, one might argue a substantive importance distinction to characterize primary purpose as business

B) Child care 

1) Smith: p.568

(a) Stands for the proposition that child care expenses are inherently personal and ( ~ deductible

(b) smith argues: but-for the expense of the nurse, the wife couldn’t work, and ( it’s a business expense

(c) Court says this is a slippery slope:  next come clothes and food as predicates to work, etc.

2) Congress responded to the harshness of the Smith position with §21:  The Child Care Credit Regime

(a) The credit is a percentage of childcare costs.  $2400 for 1 child is eligible for the credit, $4800 for two or more little bastards, ~ indexed for inflation

(b) The credit starts at 30% of the eligible amount, w/phaseout beginning at 10K AGI, reducing the credit amount to 20% at 30K+ AGI

(c) Effectively a 20% credit for all purposes (maximum phaseout is 20%)

(i) $480 for 1 kid at 20% credit, $960 for 2 kids @ 20% credit

(d) b/c it’s a credit its progressive, if it were a deduction it would be of greater value to higher bracket TP’s

(e) The amount of expenses eligible for the credit is tied to the lower paid spouse’s earnings, such that both have to work in order for the credit.  The credit can’t exceed the earned income of the lower paid spouse.

(f) §21(c):  The amount of expenses eligible for the credit are reduced by the aggregate of benefits sub §129.

(i) §129

· allows exclusion from income 5K used for childcare

· allows for exclusion of FB of payment by employer of child care expenses up to 5K

(ii) If your marginal tax bracket is < 20%, the credit is better, but otherwise its always better to take §129 FB compensation

(g) Together, §21 and §129 alleviate Smith (although still good law)

C) Commuting

1) The cost of going to and from your place of business is ~ deductible, on the theory that it is a personal expense

(a) This is rationalized by saying, “you could live wherever you want, and the decision to incur costs by living far from work is personal

2) Flowers:  Lives in Jackson, MS, and works in Mobile, AL.  The court holds that this decision to live distant from the place of work is personal, and ( the commuting costs are ~ deductible

3) Hantzis:  (’s theory is that the expenses she incurred while in NY are travelling expenses sub §162(a)(2), arguing that they were incurred while ‘away from home n the pursuit of a trade or business.’

(a) IRS says that your tax home is your principal place of business, and here this home was NY, ( ~ deductible.  (The tax home is where the TP’s earnings occur, here NY)

(b) Appellate court sys that her underlying reason for duplication of expenses is personal, qua Flowers, and ( her expenses are ~ deductible

4) The Temporary Employment Doctrine and the 1 Year Rule

(a) Travel expenses incurred when leaving your tax home in the pursuit of a trade or business, are deductible sub §162(a)(2) for travel of up to 1 year

(b) Rev Ruling 93-86, p.581

(i) 1 year rule: p.162(a)(below(3))

(ii) If the TP anticipates their absence from home to be more than 1 year, then the expenses are ~ deductible at all

(iii) But if the intention is that the absence will be a year or less, but it turns out after leaving that the absence will be > 1 year, then expenses are not deductible after this is apprehended.

(iv) These same expenses would be deductible by a partner (as expenses related to self-employment), however, in their entirety, regardless of intention or duration as an a/t/l business expense

(v) if the TP’s employer reimburses these expenses, they are ~ included or deducted

(c) Visiting law professor arrangement sub §162(a)(2)

(i) if < 1 year, and he maintains his tenured position at the 1st institution, and he is at the 2nd institution to pursue his trade, then his living expenses there are deductible, but meal expenses get the 50% har-cut (proxy to personal consumption sub §274(n))

(ii) These expenses would be a non-reimbursed employee business expense, a miscellaneous b/t/l deduction, subject to the 2% floor

(iii) These facts also implicate the use of the federal; per diem table for calculating the cost of meals while away from home on business

D) Moving Expenses: §217

1) For expenses to be deductible, Mover must:

(a) Get a new job, and:

(b) New job must be sufficiently far away that the length of their commute from old house to the new job would increase by at least 50 miles

(i) Old commute =’s x miles, new commute must = x+50 miles, but there is no requirement as to how far you must move, so you could move just across the street

2) covers cost of moving household goods and travel (lodging, but ~ meals): a/t/l deduction, sub §62(a)(15)

3) Subject to the ‘39 week rule’: in order to be deductible you must be fully employed for 39 weeks, once you arrive at the new location.

(a)  Rule doesn’t require that you keep the same job for 39 of the next 52 weeks, and you can also move and then find a job which you keep for 39 of the 52 weeks following the move

(b) If it turns out ex post that you fail to meet the 39 week rule, include in income the following year the amount deducted in the former year. §217(d)(2)

4) Deductibility turns on a new place of work, which is not necessarily a new job, i.e. transfers w/in same company b/w offices qualify

5) If employer pays relocation costs, it’s not included in income if it’s a qualified moving FB, sub §132(a)(6)

E) Clothing

1) Pevsner: p.594

(a) ( manages expensive clothing boutique (~ to be confused with a litigation boutique, which also requires expensive clothes, and pretentious attitude).  She buys some of the clothes to wear at work and tries to deduct the cost as a business expense

(b) Clothes are deductible if:

(i) they are required as a condition of employment: and,

(ii) not adaptable to general usage as ordinary clothing (i.e. distinctive)

(iii) ~ worn in public by the purchaser as ordinary clothing

(c) ( fails (ii):  ( argues that given her lifestyle the clothes are ~ adaptable.  The tax court agrees, but the 5th Cir. reverses, says (ii) is an objective test, and ( the clothes are adaptable and her lifestyle is immaterial

(i) objective test is supported by administrative convenience

2) prong (ii)  prevents every L and Acct from deducting their clothing costs.  It allows for a deduction only of uniform costs (e.g. Burger King manager outfit for this coming summer)

3) even where a TP qualifies, it is a non-reimbursed employee business expense and ( is subject to the 2% floor

F) Legal Fees

1) Gilmore:  p.597:  Origin and nature of legal claims determine deductibility of legal costs, not the potential consequences

(a) Gilmore wins his divorce, pays L 40K for svc’s, and deducts sub §212 as expenses incurred to protect income earning property

(b) Court of claims agrees and says deductible

(c) SC says ~ deductible, b/c it’s not the potential consequences of the suit that determine deductibility, it is the origin and nature of the claims themselves.  Divorce is a personal matter, ( these are personal, non-deductible expenses

2) Legal expenses associated with a divorce are generally ~ deductible, except as associated w/the determination of or refund of taxes.  Any tax issue advice in a divorce is deductible sub §212(3).

G) Education Costs ( 3 categories

1) College (Carroll)
(a) ~ deductible: considered personal enrichment.  Tax court in Carroll says they are personal exp.

(b) even if they are business expenses, they would have to be capitalized, since the costs of acquiring an asset have to be amortized.  This necessitates depreciation over the useful life, which is indeterminate here, and ( isn’t depreciable (but we could just set an arbitrary life, like we do with business intangibles???)

2) CLE ( professional seminars

(a) usually deductible

(b) considered equivalent to a maintenance expense:  1.162-5 (p.929), “Things that maintain or improve required skills required by the job” are deductible

(c) If an employer covers these costs, and then includes them on W2, they can be deducted a/t/l per §62(a)(2)(A) as a reimbursed employee expense.  This is a work related FB sub §132(c): Where an employer pays for something that the employee could’ve deducted had they paid for it themselves.

3) Professional School

(a) If either of two conditions is met, then these expenses are ~ deductible

(i) if the expenditure is made to aid person in meeting the minimum ed. req’s of employment (as to 1st enter a job) ( ~ deductible (reg 1.162-5, p.929).  Why?  You’re doing it to get a job, ( personal enrichment.

(ii) if the expenditure is made to help qualify the payer for a new trade or business

· e.g. CPA who goes to Law School.  You don’t actually have to embark in the new trade or business, its enough to be qualified.

(b) If you are already working, getting an MBA may be deductible (as well as stupid), as a non-reimbursed employee business expense (subj to 2% rule)

H) Tax Credits for Education: §25A (The Hope and Lifetime Learning Credits)

1) See Chirelstein p.184

2) Hope Credit

(a) 100% credit for 1st 1K incurred, next 1K gets 50% credit, for a max of 1.5K/year/student.  Indexed to inflation

(b) Nonrefundable (i.e. have to have tax liability to begin with to qualify), and only available for the 1st 2 years of college

(c) Phaseout: for singles modified AGI beginning 40K, completely at 50K.  for marrieds modified AGI beginning 80K, complete at 100K.  also indexed.

3) Lifetime learning credit

(a) 20% of 1st 5K/yr = max 1K credit

(b) Allowed for any sort of education: e.g. ITT Tech., Pimp School, etc.

4) The Phaseouts of these educational benefits are another incidence of progressivity in the tax system, i.e. the incentives should not be necessary to encourage higher income people to send their kids to school

5) To the extent educational costs are covered by scholarships or educational assistance allowances (e.g. Pell Grants), not available for credit: §25A(g)(2)

6) Scholarships are deductible from income where they cover tuition and fees, but scholarship money conditioned on services (e.g. TA), for room and board expenses, or paid by an employer are not deductible from income

I) Job search expenses:

1) If the search is w/in the same field they are deductible, analogous to maintenance expenses.  Deductible whether or not successful

2) Search costs in new field are not deductible, by analogy to the requirement of capitalization b/c of long term benefit

3) Sharon
(a) L in NY wanted to move to CA to practice, takes and deducts cost of prep course for CA exam

(i) L argues since he is already practicing this is akin to maintenance, ( deductible

(ii) IRS argues that the anticipated practice in CA is actually in another field, and ( the course is an expense incurred to qualify for practice in a new trade or business

(b) ( can depreciate the cost of the asset (i.e. the training to practice in CA) over the lifetime of the asset (i.e. his working life expectancy), but this would be a useless deduction.  Time value of money.  Time value of money.  

(c) This case is a serious obstacle for lawyers.  Maybe the argument is that this training would be deductible if the ( here was practicing federal tax law, b/c the cost of his course for CA wouldn’t necessarily be related to practice in a new field, just a new location
(d) Job search costs incurred to get into a new field can be amortized over the life expectancy, but as above practically useless

X) Pure Business Expenditures: deductions capitalization, depreciation, and AMT

A) Capitalization and repairs

1) Capitalization of cost (costs added to basis)

(a) Capitalization is a way of categorizing an expenditure as an investment, whereby the expenditure gets added to basis and is ~ deducted immediately.  Cost is recovered over time.

(b) The Carrie Brown Theory of Capitalization

(i) Deducting the cost of an asset immediately is equivalent to exempting from tax the income that the asset produces (in certain circumstances).  In other words, w/o capitalization, there may be no effective income tax on the stream of income the asset produces

· Assume:  bond w/10% coupon, 1. if it’s a tax exempt, then the pretax return =’s the after tax return, and the cost is ~ deductible.  2.  If not tax exempt, but the cost is deductible, @ 40%, the $1000 bond is only costing $600 after tax, b/c of the $400 tax savings from the deduction.  The $100 payments are taxed and the final return is $60.  The after tax income over after tax cost (60/600) = 10%, meaning the taxable bond returns the same %’age as the tax exempt bond.

· This is why we have to have capitalization, b/c w/o it the tax system breaks down in that the deduction is equivalent to excluding the income from tax

(c) The issue of capitalization of costs has become very important in the last five years in light of Indopco
(i) Indopco
· in the context of a corporate takeover, the target company’s expenditures on legal and investment banking fees are in question

· IRS argues that these expenses need to be capitalized and the SC agrees:  “if the expenditure creates a long term benefit for the company, whether tangible or intangible, the costs should be capitalized”  SC position is that capitalization has to be taken seriously, it is the norm, and expensing costs is the exception.

(ii) Indopco presents a very harsh rule, b/c the benefits here are of an intangible nature, and ( don’t have an ascertainable life and recovery period, which means that they can only be recovered on sale of the business when basis is recovered.

(iii) The IRS has won several large post-Indopco cases where parties failed to capitalize, winning on the advocacy of a matching rationale

· to wit, if the asset is going to produce income over x years, then we have to match the income to the expense, recovering the expense over the x year period.

(d) Capitalization of costs when constructing a building (useful life for property:  residential real = 27.5 yrs, nonresidential = 39.5 years)  Note:  this rule absolutely does not apply to the construction of the Connelly Center for the Administration of Justice, which will never, ever be completed.

(i) Why must these costs be capitalized, or for that matter any expenditure?  B/c there is no diminution in wealth in H-S terms, b/c the expenditure creates basis, here in the building.  No net loss of wealth.

(ii) The ‘matching’ theory of capitalization:  When the building is placed in service, you begin to depreciate it.  The use generates income, and the previous expenses are deducted as against that revenue, in proportion to the useful life of the building.

(iii) Labor costs, including payroll taxes on the labor, must be capitalized as must all economic costs of the construction.  E.g. health insurance for the laborers.  Same for costs of supervisors to tell the laborers to stop standing around.  

(iv) Bulldozer bought to build building (w/depreciation @ 10K/yr) is not immediately deducted.  Instead the depreciation allocable to the construction of that building has to be capitalized into the basis of the building. (Idaho Power)

(v) Construction period interest has to be capitalized into the basis of the building.  Note once the building goes into service the interest on these same loans becomes deductible as business interest expense

(e) The uniform capitalization rules (This is phat)

(i) Require different kinds of businesses to capitalize the same types of expenses, for even treatment

(ii) ‘Cost of goods sold recovery’  The GM Car example

· even the costs of the payroll department attributable to the maintenance of the payroll for the builders of the cars must be capitalized into the costs of the cars.  A very broad rule.

2) Miscellaneous exceptions to the general rule of capitalization

(a) Incidental future benefits do not necessitate capitalization of costs

(b) Advertising Costs

(i) Impossible to determine the useful life, ( it wouldn’t be fair to require capitalization

(ii) An exception to the Indopco rationale requiring capitalization of assets producing long term benefits

(iii) There is no reason why we couldn’t require amortization over an arbitrary period, e.g. 3 yr.(since ad costs are in reality recovered quickly), but we don’t.  There’d be a big shit sandwich for congress to eat if they tried.

(iv) IRS is saying that the cell phone service providers which have automatic renewal should be required to capitalize that %age of the promotion costs incurred with the income received from the contracts which extend beyond one year.

(c) Costs of certain administrative employees, whose connection with production are the most remote 

(d) R+D Costs (§174)

(i) ~ required to be capitalized primarily b/c we want to encourage this activity (an incentives motivation).  Further there are problems in determining what the useful life of the work is.

(e) Intangible Drilling Cost’s (IDC’S) §263(c), §263A(c)(3)

(i) costs deductible immediately, also based on an incentives rationale that we want to encourage the exploitation of natural resources (screw the environment)

(f) Timber development costs are immediately deductible

(g) Farm costs

(i) cost of raising crops and breeding cattle are immediately deductible

(ii) In addition to this benefit, farmers also get income averaging

3) Repairs:  Currently Deductible §§162-5

(a) Repairs maintain, and do not improve, and ( don’t add value, justifying immediate deduction (1.162-4, p.928).  Repairs are ~ subject to capitalization b/c they are ~ ‘improvements’ or ‘betterments’.

(b) The law in this area, repair v. capital expenditure, is completely random.  This allows L’s to advise C’s to take aggressive positions ethically. There is case law to support practically any position.

(c) There are opposite incentives in the treatment of business and home repairs.  Homeowners want to capitalize the costs of home repairs, to increase basis (But this doesn’t make sense, isn’t the immediate deduction against ordinary income more valuable than additional basis? Or is it that since there is no imputed income recognized there would be nothing to deduct the expense against?).  Businesses want to deduct the costs immediately.

B) Reasonableness and Illegal Activities

1) Illegal Activities

(a) Tellier:

(i) ( charged with criminal securities fraud: pays fine (18K), and criminal defense lawyer (23K)

(ii) ( wants to deduct the legal fees §162, i.e. the expenses originated with his business and are a business expense.  IRS say “you crazy!”

(iii) For a business expense to be deductible sub §162 must be:

· Necessary: i.e. appropriate and helpful: and,

· ordinary: i.e. it must be an expense which is immediately deductible, as opposed to an expense requiring capitalization

(iv) IRS says if ( can deduct, the economic burden imposed as punishment is undermined, i.e. ‘we lessen the sting’.  Tax court agrees and bars deduction, says it would contravene public policy

(v) SC reverses, saying that the FIT is on income, ~ wrongdoing (citing Sullivan for the proposition that you can deduct the expenses of an illegal operation against its income in some cases)

· Court says it has disallowed deductions where they frustrate defined policies (Tank Truck Rentals, disallowed a deduction by trucking co. of fines for violations of law, saying it would lessen sting)

· But, the court says there is no policy prohibition against hiring an L to defend you in a criminal prosecution arising out of business, ( the legal fees are deductible by the (
(b) Present Law

(i) §162(f):  No deduction is allowed for fines or penalties, paid to a government, for violating a law (codifies Tank Truck Rentals)

· Does not differentiate b/w civil and criminal penalties

· Taking away the deduction b/c the fine is associated with an illegal activity is arbitrary, in that these deductions value is dependent on marginal tax rates (What Evans?, of course it is.)

(ii) §162(c)(1):  No deduction is allowed for bribes or kickbacks, or payments illegal under the foreign corrupt practices act

· FCPA provides for criminal penalties for bribery of foreign officials, but ‘grease’ is allowed under the FCPA b/c of necessity, and is also ( deductible (grease is a payment made to a Mexican official, e.g., to induce them to do what is otherwise their job, the key is that you are not coercing them to change their behavior in their favor, you’re just getting them to do it faster)

(iii) §162(c)(2):  Goes beyond the FCPA to exclude deductibility of any illegal bribe or kickback

· illegality sub this provision is determined by local law

· Such bribes are always income for the purposes of the recipient, whether deductible or not on the part of the payor

(iv) Antitrust Awards:  The punitive element (i.e. 2/3 of treble damages award) is ~ deductible.  The compensatory element is

· A Tank Trick Rentals argument:  if we allowed deduction of the punitives, we would lessen the sting

· This disallowance only applies if it’s a criminal antitrust action or a civil antitrust proceeding pursuant to a criminal proceeding on the same facts.  

· ( all dams are deductible in purely civil antitrust award payments, non-deductibility above is predicated on the higher criminal burden of proof

· Reg 1.162-21 (p.937) addresses fact that restitution is same as compensatory damages and ( is deductible.  Disgorgement of illegal profits is deductible (EXAM)

(v) IRS concedes that §162 supercedes and forecloses any arguments for common law public policy exceptions to damages deductibility

(vi) But the IRS says that §165 did ~ foreclose all CL arguments, related to losses

· e.g. forfeited property is not deductible sub §165 since it contravenes public policy

· The IRS still makes CL public policy exclusion arguments sub §165, but they cant under §162

(c) Tax accounting of illegal operations

(i) Sullivan:  Costs of an illegal gambling business were held deductible against the gross receipts of the operation

(ii) sub §280E:  The costs associated with a drug operation are exempted from Sullivan, but within certain limits.  The cost of the coke has to be deductible against gross receipts according to the ‘cost of goods sold’ rationale.  If this were not deductible, it would raise A13 concern that what would be being taxed would not be income (you can deduct the cost of your coke, but you can’t deduct the cost of alligator food, sailboat payments, pink tee-shirts and white suits, food for Rico Tubbs, etc.)

2) Reasonable Compensation

(a) §162(a)(1):  Reasonable compensation for services rendered is deductible

(i) addresses concern that in closely held C Corp’s that shareholder/employees will give themselves excessive salary, thereby increasing the deductions of the Corp, and avoiding Corp income tax, b/c the extra payment is an otherwise non-deductible dividend in disguise

(ii) See §11 for Corp income tax rates, C corps compute income very similarly to individuals

(iii) This is one of  the IRS’s favorite ball busters for audit purposes

(b) What constitutes reasonableness is a matter of judge made law, a facts and circumstances test under which we look to similar Corp’s to determine what is reasonable (i.e. determine similarity to what paid to strangers in arms length transactions)

(c) This problem does not arise in flow through Corp entities, e.g. S Corp’s and partnerships, which are not taxed, only their owners are

(d) But if a Corp is publicly traded, it has to be taxed at the corporate level

(e) §162(m) ( Reasonable salary concern for publicly traded companies

(i) can’t deduct compensation to CEO and 4 highest paid officers which exceeds 1 million

(ii) but this limit does not apply to performance based compensation

(iii) ( this limitation is illusory, b/c the affected publicly traded co’s simply make these peoples salaries performance based

XI) Taxation and Properties of Corporations

A) C Corp’s

1) subject to two levels of tax, i.e. corporate earnings are taxed and the dividends payable to the shareholders are taxable to the recipients

2) Can avoid the double taxation by financing their operations with debt (bonds), as opposed to equity (stock)

(a) The interest expense of the bonds is deductible by the corporation, whereas dividends are not.  ( the result of financing the operation with debt is equivalent to eliminating the corporate tax level, and only the bondholders are taxed on their earnings

B) Partnerships and S Corp’s

1) Partnerships and S Corp’s do not pay tax at the corporate level, rather 1/x share of corporate income gets included in each partner or shareholders taxable income.  For this reason they are usually preferable to C corps

2) When a partnership has income which is not paid out to partners that taxable year, the partners are still taxed on that portion ascribed to them currently, but their basis in their respective interests goes up, such that when that portion of profit is paid out its untaxed basis recovery

3) Losses (where deductions exceed income) are similarly apportioned to the partners and are deductible on their individual tax returns.  This is as opposed to C Corp losses, which do not flow through to the stockholders.  Pass through losses decrease basis.  Losses can only be taken to the extent of initial investment

4) S Corps are less desirable than partnerships, b/c of these limits, and if any are failed, then the s Corp is taxed as a c

(a) S corps are limited to a maximum of 75 shareholders

(b) S corps can’t have another partnership or another Corp (c or s) be one of its shareholders.  This is an attempt to avoid complex corporate structures.  But a partnership or another c or s Corp may be a partner in another partnership.

(c) Nonresident aliens can’t be shareholders in S Corp’, resident aliens can.  Nonresident aliens can be partner's in partnerships, but the partnership must withhold tax on profits paid to the non-resident alien

(d) S Corp’s can have only one class of stock (i.e. ~ common and preferred).  Partnerships can have preferred interests.

5) Other Partnership benefits over s Corp’s

(a) Distribution of Corp assets

(i) property in corporate solution cannot be extricated (through liquidation or distribution) without triggering tax.  ( once a business is within a corporation, it’s stuck.  Advise against.  Based on the theory that removing property from a corporation is like taking it from s/o (an entity, as opposed to the way property is held in partnership which is in ‘aggregate’)

(ii) But property can be extricated from partnerships and LLC’s w/o triggering tax, b/c the partners property is simply aggregated.

(iii) The conversion of an s Corp to a partnership is deemed a liquidation of the s Corp and triggers tax

(b) Partnerships allow for special allocations of different attributes, e.g. losses, cap gains, ordinary income.  Special allocation is not available for s corps, and is very difficult in c corps

(c) Inside partnership debt is allocated to the partners and increases their outside basis in their partnership interest.  This allows for greater absorption of partnership losses (e.g. depreciation deductions).  S Corp shareholders only get losses flowing through to the extent of income, all losses in excess of this are carried forward to be recognized against future income.

C) LLC’s

1) limitation of liability to corporate assets for debts and judgments

(a) In Partnerships:  partners have liability for the debts of the corporation

(i) general partners have unlimited joint and several liability for the debts of the Corp

(ii) Common strategy is the use of a limited partnership with a corporate general partner to overcome this problem

(b) S Corp’s provide better state law liability exposure limitation, but partnerships have better tax posturing, and the LLC is effectively the best of both

2) The LLC owners (‘members’) have limited tort and K liability like the shareholders of a corporation, but an LLC is taxed like a partnership

3) The LLC arose out of state ‘check the box’ regulations under which any unincorporated entity (e.g. partnership or LLC) may choose to be taxed either as a corporation or a partnership, thus you can form an LLC and get limited liability and get taxed a as p-ship

4) Single member LLC’s are treated as if they don’t exist for tax purposes, but afford the sole member limited state law liability

5) Problem w/TX LLC’s ( State Franchise Tax

(a) > of .25% of LLC’s capital or 4.% of LLC’s earned surplus/year

(b) Equivalent to a 4.% corporate income tax

(c) But for LLC’s salaries for owner/employees are deductible in calculating the earned surplus, mitigating or zeroing out the earned surplus

(d) Partnerships avoid the TX franchise tax, and there may be possible ways to finesse the partnership tax for LLC’s

XII)  Pure Business Expenses:  Depreciation, Depletion and the AMT

A) How do we account for the decrease in wealth according to the depreciation of capital assets?

1) Purchase price of a business has to be allocated percentage-wise to the individual assets purchased

2) Per The H-S Theory of income:  There is no decrease in wealth when an asset is purchased, ( the proper way to account for depreciation of assets is to determine how much their value decreased that year, and allow that deduction.  Only wasting assets are depreciable (not land, e.g.)

3) But depreciation is simplified through the use of schedules:  allowing for deduction faster than the economic decline in value.  This is a recognized tax expenditure, and if the deductions allowed were less than economic depreciation, then this would be a tax penalty.

4) Slow depreciation is equivalent to a higher tax rate, and fast depreciation is equivalent to a lower tax rate

5) The tax code deliberately gives fast depreciation and short useful lives

B) Specific types of property

1) General rule for what can be depreciated

(a) property used in a trade or business (§167(a)(1)

(b) property used in the production of income ( §167(a)(2)

2) Raw land is not depreciated b/c it is ~ a wasting asset, but real estate buildings are depreciated, even though they often go up in value

(a) Buildings are depreciated using the straight line method ( §168(b)(3)

3) DeMinimis Acquisitions:  §179

(a) For administrative feasibility, TP’s can deduct up to first 19K of acquisitions in the year acquired 

4) Machinery

(a) Rules for depreciating machinery are very intensely debated:

(i) The right favors accelerated depreciation, on the theory that it will stimulate the economy

(ii) The left (communists) holds that accelerated depreciation is an unfair tax benefit for the wealthy and corporations.  The left favors depr. which more closely mirrors economic depreciation (viva Fidel)

(iii) Business groups have been in favor of expensing, i.e. immediate deduction

(b) This debate implicates the more fundamental question of whether we have an income or consumption tax

(i) arguments for expensing advocate a consumption tax (regressive)

(ii) Economists refer to the current tax system as a hybrid of income tax features and consumption tax features

· Carrie Brown:  expensing and deducting immediately work the same result as a consumption tax (earnings-savings)

· e.g. pension plan tax treatment is as a consumption tax

5) Old law didn’t allow for the depreciation of business goodwill, but customer lists could be depreciated

6) The new law sub §197 standardizes the useful life of business intangible (e.g. business goodwill) at 15 years, and applies straight line method deduction.  Policy favors administrability over accuracy, only applies to purchased intangibles, whereas internally created intangibles (e.g. advertising) are expensed.

(a) even business intangibles which are temporally limited (e.g. the value of a non-compete K for 5 years) are depreciated over 15 years, to prevent complexity in this area of the code.

(i) for the seller of the business the goodwill is a LTCG and covenant is ordinary income 

(b) raises distinction b/w purchased intangibles (e.g. goodwill) and internally generated intangibles (e.g. advertising costs)

(i) the cost of internally generated intangibles is deductible immediately.  e.g. also R+D costs

(c) §197 as an example of the tax code favoring simplicity over accuracy.  It is inaccurate b/c the life term of 15 years doesn’t even approximate the economic depreciation here

7) Depletion

(a) covers nat. resources such as oil and gas and other minerals

(b) Oil and Gas

(i) Intangible Drilling Costs (IDC’s)

· costs associated with the drilling of an O or G well (for list of included expenses, see 1.162-4(a), e.g. wages, fuel, repairs, survey, cost of constructing physical structures, etc.)

· Immediately deductible as an attempt to encourage domestic production

· G and G costs (geological and geophysical) are ~ included:  These are the costs of exploration incurred to obtain data on deposits.  Must be capitalized

(ii) capitalized costs of O + G and the ‘depletion’ methods of depreciation

· Cost Depletion ( §612

A. Hypo:  field w/10K barrels estimated, w/100K of capitalized costs.  The depletion deduction equals:

01. 100k costs/10k barrels = 10$/barrel of deduction taken as the barrels are sold

· Percentage Depletion:  percentage of gross income is immediately treated as a deductible expense

A. simpler calculation b/c we don’t have to estimate the total deposit through survey

B. the depletion percentage is established by law at 15%

C. Once all of the costs have been recovered under the percentage depletion method, you can keep on deducting past cost recovery and it becomes a pure subsidy.  This is not true with cost depletion

D. Only independent oil producers can use percentage depletion, it is denied to the big playazz, congress did this after the 70’s oil embargo.  Small players can elect to go back and forth b/w the cost and percentage depletion methods, depending on which is of greater value

(iii) b/w IDC’s immediate deductions, and percentage depletion, independent producers got they game tight, boy!

(iv) But despite this, there’s still no domestic drilling, still too expensive to reach deposits

C) Depreciation methods

1) Real estate (buildings, ~ land)( straight line (§168(b)(3))

(a) divide the basis by the lifetime ( xK/yr

(b) deduct xK/yr for lifetime, adjusted basis declines accordingly (b/c/ basis =’s unrecovered costs, and deductions are such a recovery)

2) 15 or 20 year property ( 150% declining balance method

(a) take straight line method percentage, and multiply by 1.5 = 1.5x%

(b) use declining basis method until the straight line depreciation of the remainder is greater, don’t forget, once switch to straight line we’ll deduct the same amount every year

3) 3,5,7,10 year property (  200% declining balance method

(a) take the straight line method percentage, i.e. that percentage which the yearly deduction under the straight line is of basis, and double

(b) Assume basis =’s 5K, straight line depreciation percentage for 5 years =’s 20%, double for 200% declining balance method

(i) Year 1, deduct 2K, remaining balance =’s 3K, Year 2, deduct 1200 (i.e. 40% of 3K), remaining balance =’s 1800, Year 3 the deduction would = $720, year 4 balance is 1080, but here we switch b/c the 50% (for 2 years left).  When the deduction sub the declining balance method becomes less than that under straight line, we switch to the ‘modified straight line method(§168(b)(1)(B))

· When the deduction from the straight line method is > than the declining balance value, go to straight line.  This is done by taking the remaining balance and dividing it by the number of remaining years. 

· This will happen when 1/remaining years is greater than the DB percentage

(c) We can ‘juice up’ (much like Evans before class) depreciation by switching from the 150% to the 200% method, or we can reduce the useful lives

D) Alternative Minimum Tax (AMT)

1) A separate tax system w/a broader base (i.e. more things included in income), yet with lower rates.  Conceived as a method of blocking the overuse of tax preferences by fat cats and high rollers, to protect joe six-pack.

(a) AMT uses different rules for what’s included in gross income, and reduces the number of available deductions

2) TP’s pay the higher of the two taxes,

3) Individuals:  1st 175K of income @ 26%, >175K @28%,  Corp’s:  20%

4) AMT necessitates the keeping of two sets of tax books for corp’s

(a) corp depreciation sub AMT is slower, and with longer asset lives.  This effectuates the AMT policy of having a broader base of taxation.  See §56(a)(1)(A)(ii):  machinery that would be depreciated using the 200% DB method is depreciated using the 150% DB method under the AMT

(b) The AMT is not as capital favorable (, which really stick

5) For Individuals:

(a) AMT doesn’t allow for the deduction of local property taxes or state income taxes §56(b)(1)(A)(ii), and also forecloses the deduction of the miscellaneous itemized deductions §56(b)(1)(A)(i)

(b) AMT also raises some harsh outcomes in cases of personal injury awards:  awards for non-physical injuries are taxable, and under the regular tax system the L fees are deductible sub §212, as a misc. item. deduction.  But, under the AMT the same legal fees are not deductible.  Bend over and say ahh.

(c) Under the AMT, medical expenses have to exceed 10% of AGI to be deductible §56(b)(1)(B)

(d) 1st 45K of income is tax exempt under AMT, but this compensates for the absence of the standard deduction and no dependent deductions

E) Tax Shelters and the passive loss rules

1) Tax Shelters

(a) create artificial tax losses, ~ actual economic losses

(b) Cattle feeding tax shelters

(i) In Dec.: buy cows in OK (read:  paradise) feed lot and also corn to feed them.  Cost of cows has to be capitalized, but the cost of the corn is immediately deductible, even though not yet fed to the cows.  special farmer feed rule.

(ii) The activity just started creates a tax loss in year 1, reducing taxable income and deferring tax

(iii) In year 2 the cows are fed and then sold, and a portion of the profit gets treated as cap gain

· ( the deduction which was taken in year 1 (against ordinary income) gets ‘converted’ and the gain the following year is taxed at the preferential rate

· the 50% deductions in year 1 get converted into cap gains in year 2

(iv) ‘Conversion’ is a form of tax arbitrage, converting ordinary income into capital gains

(c) Real Estate Limited Partnerships

(i) develop e.g. office buildings and shopping centers which are then owned by the partnership and leased to T’s

(ii) These properties offer fast accelerated depreciation, and the costs of development are often highly leveraged with non-recourse (no personal liab.) debt

· ( each partners share of capital is relatively small, but their share of partnership debt for tax purposes of taxes is very large.  This share of the debt gets treated as their basis, against which they can take depreciation deductions, even though highly leveraged.  To ice the cake, the interest on the loans is deductible.  Fuck the poor.

· Further, recalling that there is no depreciation recapture for real estate, there will be substantial gain that will be treated as cap gains, another instance of conversion (depreciation deductions were taken against ordinary income)

(d) Macadamia nut orchard deals

(i) investors purchase shares in an S Corp, which buys mature groves of macadamia nut trees

(ii) The total cost of the trees was depreciable over 5 years, but the trees actually had live >  70yrs

(iii) This rapid deduction produced massive tax losses which flowed through to the shareholders, to be deducted against ordinary income

2) Why Eliminate Tax Shelters?

(a) Fairness:  too beneficial to high income TP’s

(b) Old law was biased in favor of tax shelter, and ( the tax law was having a distorting effect on economic activity.  The old law created a tax shelter industry, and funneled capital away from other investments

3) Enter the ’86 Act

(a) The Bob Packwood (Peckerwood) idea:  kill tax shelters, generating taxes, and use the increased revenue to lower rates

(b) This plan was effectuated primarily through §469:  The Passive Loss Rules

4) §469:  The passive loss rules

(a) Sets out dichotomy of income types:

(i) personal service income + trade or business income w/active participation + portfolio income, v.

(ii) passive activity income:  income from a trade or business w/o material participation (i.e. tax shelter income)

(b) Passive losses cannot be deducted against income from the first class, but passive activity losses are deductible against gains from other passive activities, a ‘basket approach’.  Passive losses carry forward indefinitely, waiting to be deducted against future passive activity income

(c) Suspended passive losses can be deducted for an activity when it is sold.  The losses are then deductible free and clear

(i) this is on the theory that the loss is validated through the sale.  The losses represent a decrease in the basis, but they are subject to the PAL rules during ownership they are ( ~ deductible during the term of ownership

· Hypo:  Purchase price and sale price = 100K, adjusted basis in virtue of unrealized PAL’s = 75K.  The sale realizes 25K in gain which is then offset by the reclaimed 25K of losses, i.e. the losses were artificial, and ( its like the basis was 100K again.

(d) PAL rules apply broadly, and only big corp’s are excepted (usually publicly traded corp’s).

(i) but closely held C Corp’s are subject to the passive loss rules in the calculation of their income.  This effectively disallows such C Corp’s from putting tax shelter inside of themselves, to offset their other income.  This is predicated on the ‘alter-ego’ theory of the closely held C Corp’s.

(ii) at the time the PAL were enacted there was no problem w/large C Corp’s being outside of the rule, but now there’s a big problem of large C Corp tax shelter abuse.  Bob Peckerhead, where are you when we need you.

(e) Material participation

(i) activity must take a significant amount of time : ‘regular, continuous, and substantial’ participation

(ii) w/o material participation, even though a person is a 50% interest holder in an LLC, S-Corp or partnership, income and losses in virtue of that interest are characterized as passive

(iii) different ‘safe harbors’ of material participation

· TP spends > 500 hours on activity/year (time spent by spouses is additive)

· TP spends at least 100 hours/year, and that amount of activity exceeds that of any other participant

· Facts and circumstances show ‘regular, continuous and substantial’ participation

(iv) rental activities are per se passive, except for those activities carried on by full time real estate professionals

· subject to exception that up to 25K/year of rental activity losses are deductible w/o regard for PAL rules. (§469(i))  Exception phased out b/w 100K – 150K AGI

A. take amount of $’s over 100K AGI and divide by 2.  Subtract this number from the 25K exception to get deduction allowed.  The remainder of the 25K is still deductible, but only against passive income.  

5) Passive Loss Rules, AMT, and the Realization Doctrine:  An Unholy Tax Trinity 

(a) The passive loss rules and the AMT both present competing solutions to problems with tax law: i.e. the rich who try to take advantage of loopholes in the system.  The reasons the loopholes exist is b/c of the realization doctrine.  Further this is aggravated by the ACRS.  In sum,  we don’t trust our own tax rules to correctly measure income.  I.e. taxable income ( economic income

(i) this problem could be mitigated by broadening the tax base

(ii) but instead our tax system solves the problem through ad hoc policy tools such as PAL and AMT

(iii) But these fixes are rough and inaccurate:  e.g. the different treatment of two partners in a joint business activity depending on their relative participation

(b) Tax Shelters and the Realization Doctrine

(i) All tax shelters are predicated on the recognition of artificial losses, i.e. losses which don’t correspond to economic income

· The problem is the realization doctrine, b/c we’re ignoring the real value of property

· Also, the ACRS contributes to the mis-measurement of income

(ii) So we try to fix this fundamental problem w/PAL and AMT, but we’re ignoring the real causes

XIII) Capital Gains, Losses, §1231 and recapture

A) What is a capital asset? §1221

1) everything is a capital asset, except the enumerated exceptions of §1221, and cap gains as defined by Malat

(a) §1221 exceptions

(i) §1221(1):  inventory is not a capital asset

· inventory is a day to day source of income, see Malat
· the purchase and subsequent subdivision of a property into lots could conceivably be characterized as the sale of inventory, where the holder could be described as a dealer in property.  But this characterization would require that the seller be acting in the ordinary course of their business.  For most investors in a situation like this, this will not be the ordinary course of their business and they ( would still qualify for the preferential rate (see further Chirelstein, p.370, most such property sales come under cap gains)

A. in such a situation L’s should advise their C’s to be very aggressive , b/c substantial authority exists for the position that such sales do qualify for cap gains treatment.

(ii) §1221(2):  property used in a trade or business subject to depreciation, or land used in a trade or business

· this is a remnant of the depression era, which allowed for sales of this type of equipment would be capital losses, ~ capital losses, which allowed for greater deductibility

· depreciable property used in a trade or business or land used in a trade or business is §1231 property.  §1231 specifically deals with the disposition of §1221(2)  assets, see infra C

(iii) §1221(3):  IP rights retained in the hands of the creator are ~ a capital asset, b/c they look like the product of personal efforts

· see e.g. Eisenhower sale of ( in his book at 25% cap gains rather than as ordinary income (which then was getting the shit taxed out of it).  This episode gives birth to this IP exception

(iv) A/R is not a capital asset

· this is the paradigmatic application of Malat:  A/R is ordinary business profits

2) Malat v. Riddel:  the crucial distinction in determining whether something is a capital gain is whether the gain is in virtue of ordinary business profits versus an appreciation in value accruing over a substantial period of time

B) Capital Gains and Losses §1(h)

1) Capital gain/loss is a gain/loss from the sale of a capital asset

2) LTCG:  available for capital assets held for over 1 year.  Capital assets held for < 1 year are STCG and taxed as ordinary income

3) The preferential treatment of cap gains extends only to individuals, ~ C corps, who must pay cap gains at their highest marginal rate

4) The capital gain rate will never hurt you, it will always be lower than your ordinary income rate, i.e. if your ordinary income rate is 19%, your cap gain rate is 10%

5) see p.38 of KB supplement

6) Capital Loss Rules (Basket Approach)

(a) Master-Chief Evans says that different policies underlie the treatment of capital losses and gains, and ( maybe different definitions of capital asset in each context are appropriate

(b) For Individuals

(i) Capital losses are only deductible to the extent of cap gains + 3K/year of ordinary income (for the individual)  The 3K is available to be taken against carried over cap losses even in years where there are no cap gains

(ii) The remaining unused capital losses carry forward indefinitely sub §1212(b).  

(c) Corporate taxpayers

(i) These TP’s do not get the de minimis 3K/year exception, but they can carry back capital losses 3 years and carry them forward 5 years (§1212(a), §1211(a)).  If no cap gains to offset w/in that period they expire

(ii) Since corporate TP’s don’t get the preferential rate treatment on cap gains, the only reason they like capital losses is because they offset high rate cap gains

(d) Why restrict cap loss use?

(i) to prevent ‘cherry-picking’, i.e. the realization of losses strategically while allowing for the indefinite deferral of gains simultaneously

(ii) The realization doctrine creates this problem, b/c if we marked to market, there would be no need for these restrictions on cap loss use

(iii) But the solution of restricting their use is imprecise, b/c the rules apply in cases where a party has only cap losses and no cap gains on which they are deferring the recognition of gain

7) Why the preferential rate for cap gains?

(a) Bunching:  b/c the cap gains are ‘bunched’ in the year the property is sold (in virtue of the realization doctrine), we should give the TP’s some break

(i) but to the contrary, the preference then is just an ad hoc income averaging mechanism  (income averaging has been de jure repealed for all TP’s except for farmers)

(ii) note also that because the lower and upper ends of the tax rates have been compressed in recent years, bunching is ~ as big a problem as it used to be

(iii) Further, the preferential rate is a crude solution to the bunching problem, b/c it doesn’t account for how long the property has been held

(b) Lock In:  The greater the tax on cap gains, the longer people will hold the cap assets, and this may result in the inefficient allocation of capital if cap gains taxes are too great

(i) This problem could be solved by taxing by mark to market

(ii) The lock in effect is further exacerbated by the tax favored treatment of holding capital assets till death, §1014

(c) Inflation:  The taxation of inflation gains obviously sucks a phat r’down, so by giving a preferential rate on cap gains we mitigate the taxation of such gains

(i) but this is a sloppy fix b/c the amount of preference is ( to the inflation gains

(ii) Also some argue that the deferral in virtue of the realization doctrine is an implicit tax preference, and ( any further rate break is too much.

· a very small percentage of cap gains are even being taxed b/c of §1014

(iii) i.e. all of the benefits of §1014 and tax deferral b/c of the realization doctrine make the preferential rate too great of a benefit in some eyes

(iv) The indexing of gains, the indexing of inflation and the “Theory of the 2nd Best World” (i.e. one w/o hangovers)

· when analyzing a tax issue, in a 2nd best world (i.e. one where there are a lot of imperfections) the theory dictates that you can’t analyze tax issues in isolation.  The other problems that exist may change the policy conclusion reached.

A. when analyzing a proposal for economic efficiency, the issue can’t be analyzed in isolation, b/c other factors may distort it

B. ( in the case of indexing assets for inflation, we have to take into account that debt isn’t indexed and also the ramifications of the realization doctrine.  All 3 are necessary to any consideration of indexing asset values.  This application of the 2nd best world theory should actually come out against indexing assets but not debt, b/c if we do one and not the other we run the risk of making things worse off

(d) Incentives Justification

(i) the preferential rate creates an incentive to savings through investment

(ii) But arguably the wealthy receive a disproportionate amount of the benefit of the tax preference

(iii) Conservatives say that higher rates on cap gains would lead to a substitution effect (less savings, more consumption), and communists say that the income effect, and ( the preferential rates only help the high bracket TP’s

8) §170(e):  allowance for deduction of unrealized gain upon the donation of appreciated capital assets to charity

(a) The giver can deduct the FMV of the property donated, w/o ever realizing the gain.  This is a tax anomaly similar to stepped-up basis sub §1014

(b) The rule requires the gains on the property qualify for LTCG treatment on the day the property was given to charity in order to qualify for the deduction of FMV.  If the property doesn’t qualify for LTCG treatment, then only the basis of the donated property is deductible

(i) this limitation probably reflect a congressional concern for inventory donation deductibility

(ii) If the asset isn’t a capital asset to begin with, or the 1 year rule isn’t met, then the property wont qualify for the 170(e) deduction of unrealized appreciation rule

(c) A donation, however, may have elements of STCG, ordinary income property value, and LTCG.  This is not fatal to the operation of the rule, but requires that the total donation amount be reduced by the (ordinary appreciation+STCG) to reach the amount of appreciation which is deductible w/o realization

C) The Sale of §1221(2) assets ( §1231

1) Losses on the sale of these properties are ordinary, but gains on the sale of this property are capital.  This is the ‘best of all possible worlds’ treatment

2) §1231 and depreciation recapture

(a) On the sale of property which is subject to recapture, that amount from the adjusted to the initial basis is taxed as ordinary income, and gains above initial basis are taxed as §1231 gains

(b) But note the important exception to depreciation recapture which real estate presents.  This property is subject to straight line depreciation, and all gains on sale are treated as §1231 gains.  But note, the taxes on the gain are treated using analogy to depreciation recapture, such that gains up to the initial basis on the depreciated property are taxed at 25%, and gains above at 20% (§1(h))

3) §1231(a)(1):  where §1231 gains for a year are > §1231 losses, the net gets treated as an LTCG.  Where §1231 losses are > §1231 gains, the net gets treated as an ordinary loss

(a) STCL get netted out against STCG, and LTCG get netted out against LTCL, then net shorts and longs can be netted.

(b) Cant take cap losses against ordinary income, except for 3K worth, but you can take ordinary losses against cap gains

D) Wash Sales Rules §1019 (the basis of the property bought is increased by the previously disallowed loss)

1) restrict s/o from recognizing a loss if they repurchase substantially identical property w/in 30 days.  Rule also applies retroactively to 30 days prior to sale to prevent a purchase before sale arrangement

2) If a transaction is deemed a wash sale under this section (i.e. sale consummated w/in 30 day pre or post window), we take the disallowed loss and add that value to the basis of the new property purchased.  This preserves the loss to be recognized later

3) The wash sale rules are predicated on the pre or re-purchase of ‘substantially identical stock or securities’

4) Buy stock for 100, sell for 80, buy ten days later for 90, basis in new stock =’s 110 (old disallowed loss of 20 added to new basis of 90)

E) Sales of property to related parties §267 (the amount of the gain recognized by the 2nd party is reduced by the previously disallowed loss)

1) sales w/in the same economic unit do not trigger recognition of the losses, doesn’t apply to just kids, can apply to wholly owned S Corps

2) §267(a)-(c):  limits recognition of capital losses where the depreciated property is sold to relatives or wholly owned s-corps (i.e. sales to self)

(a) if the stock is sold to a TP’s wholly owned S-Corp:  you treat any subsequent gain by the corp as offset by the previously disallowed loss ( §267(d).  This is based on the one entity theory

(b) A transfers 40K worth stock to his wholly owned s corp for 30K, when the stock is subsequently sold by the s corp for 45K, it recognizes only 5K of gain.  Note that A never gets the loss here, according to the one entity theory.

F) Different Capital Assets

1) Collectibles:  works of art, rugs, antiques, metals, gems, stamps + coins, aging alcoholic beverages

(a) held greater that 1 year ( 28% §1(h)(6)

(b) higher rate justified by these activities being less worthwhile, a populist policy arg.  ~ as useful as other use of same capital

2) Real Estate

(a) lack of depreciation recovery in sales of real estate is countered by the fact that the tax on gains from the sale, that would otherwise be depreciation recapture (§168(c)) and taxed as ordinary income, is taxed at 25%.  Gains above initial basis are taxed like standard LTCG @ 20%

